
PROFESSIONAL EXAMINATION BOARD
Group­3 Technical Selection Test 2016

4th April 2016, 09:00 AM
Topic:­ G3_General Knowledge
1)

Question Stimulus :­

General Knowledge

Which of the following have Agricultural University in Madhya Pradesh? / मĀ ঋदॕष म७ इनम७ ऺॕ ोकऺकॕ पॊऺ
क॑ोह ोशĀोशĀॊलय ऻॖ?

Shahdol / षऻद्ॏओल

Mandsaur / मॠदऺग़र

Jabalpur / जबलपॏर

Khandwa / खॠडशॊ

Correct Answer :­Jabalpur / जबलपॏर 

2)

Question Stimulus :­

General Knowledge

At which of the following area of Madhya Pradesh, the NTPC Thermal power plant is situated? / इनम७
ऺॕ मĀ ঋदॕष कॊ कग़न ऺॕ ঴ॕআ  म७ एनटॎपॎऺॎ(NTPC) थम१ल ကॊॠट ्Āथत ऻॖ?

Sasan / ऺॊऺन

Singrauli / ो ॠऺगरग़लॎ



Singrauli / ो ॠऺगरग़लॎ

Satpura / ऺतपॏरॊ

Musamudhi / मॏऺमॏोध

Correct Answer :­Singrauli / ो ॠऺगरग़लॎ 

3)

Question Stimulus :­

General Knowledge

Which of the following dams is constructed on Chambal in Madhya Pradesh? / मĀ ঋदॕष म७ इनम७ ऺॕ कग़न
ऺॊ बॊॠध चॠबल कॕ ऊपर बनॊयॊ गयॊ ऻॖ?

Gandhi Sagar Dam / गॊँधॎ ऺॊगर बॊॠध

Bansagar Dam / बनऺॊगर बॊॠध

Bhadbhada Dam / भदभदॊ बॊॠध

Jawahar Sagar Dam / जशॊऻर ऺॊगर बॊॠध

Correct Answer :­Gandhi Sagar Dam / गॊँधॎ ऺॊगर बॊॠध 

4)

Question Stimulus :­

General Knowledge

Which of the following Tiger reserve is NOT situated in Madhya Pradesh? / ोनĀोल्खत टॊइगर ौरजश१ म७ ऺॕ
कग़न ऺॊ मĀ ঋदॕष म७ ्Āथत नऻॎ ॠ ऻॖ



Kanha  / कॊĀॊ

Bandhavgarh / बॊॠधशगु

Panna / पĀॊ

Jim Corbett / ोजम कख़ब८ट

Correct Answer :­Jim Corbett / ोजम कख़ब८ट 

5)

Question Stimulus :­

General Knowledge

Which of the following grounds of Madhya Pradesh, where Sachin Tendulkar scored his maiden
double hundred in ODI? / मĀ ঋदॕष म७ इनमॕ ऺॕ शऻ कग़न ऺॊ मॖदॊन ऻॖ, जऻॊँ ऺोचन त७दॏलकर नॕ ओ डॎ आई म७ नॊबॊद दख़ऻरॊ
षतक बनॊयॊ थॊ? 

Capt. Roop Singh Stadium, Gwalior  / कॖĀॕन ॺप ो ॠऺऻ Āॕोडयम,৖ॊोलयर

Nehru Stadium, Indore / नॕऻॹ Āॕोडयम,इॠदग़र

Holkar Stadium, IndorE / ऻख़लकर Āॕोडयम,इॠदग़र

Nehru Stadium, Bhopal  / नॕऻॹ Āॕोडयम,भख़पॊल

Correct Answer :­Capt. Roop Singh Stadium, Gwalior  / कॖĀॕन ॺप ो ॠऺऻ Āॕोडयम,৖ॊोलयर 

6)

Question Stimulus :­



General Knowledge

Which of the following state is in the south western side of Madhya Pradesh? / मĀ ঋदॕष कॕ दो঴णॎ पोĀम
भॊग म७ इनमॕ ऺॕ कग़न ऺॊ रॊĀ ऻॖ?

Rajasthan / रॊजĀथॊन

Uttar Pradesh / उĀर ঋदॕष

Gujarat / गॏजरॊत

Maharashtra / मऻॊरॊĀ३

Correct Answer :­Maharashtra / मऻॊरॊĀ३  

7)

Question Stimulus :­

General Knowledge

How many seats are in Madhya Pradesh legislative assembly? / मĀ ঋदॕष ोशधॊनऺभॊ म७ ोकतनॎ ऺॎट७ ऻख़तॎ ऻ॰?

200 / ͙͗͗

210 / ͙͗͘

230 / ͙͚͗

252 / ͙͙͜

Correct Answer :­230 / ͙͚͗ 

8)



Question Stimulus :­

General Knowledge

Which of the following Emperor commissioned the famous Stupa? / इनम७ ऺॕ ोकऺ ऺএॊट नॕ ঋोऺĀ Āॐप कख़
कमॎषन ोकयॊ थॊ?

Ashoka / अषख़क

Chandragupt Maurya / चကगॏĀ मग़य१

Bindusara / ोबĀदॏ ऺॊर

Samudragupta / ऺमॏঈगॏĀ

Correct Answer :­Ashoka / अषख़क 

9)

Question Stimulus :­

General Knowledge

Which of the following is called the “City of Lakes” of Madhya Pradesh? / इनमॕ ऺॕ ोकऺॕ मĀ ঋदॕष कॊ “झॎलख़ ॠ
कॊ षऻर कऻॊ जॊतॊ ऻ॰?

Indore / इॠदग़र

Jabalpur  / जबलपॏर

Gwalior / ৖ॊोलयर

Bhopal / भख़पॊल



Correct Answer :­Bhopal / भख़पॊल 

10)

Question Stimulus :­

General Knowledge

Who is the former Chief Justice of the Supreme Court of India from Madhya Pradesh? / मĀ ঋदॕष ऺॕ
भॊरत कॕ उৡतम ကॊयॊलय कॕ पॐश१ मॏূ ကॊयॊधॎष कग़न ऻॖ?

Just. R. M. Lodha / ज्Āऺ आर. एम. लख़ुॊ

Just. J.S. Verma / ज्Āऺ जॕ. एऺ. शमॊ१

Just. T S Thakur / ज्Āऺ टॎ. एऺ. ठॊकॏ र

Just. Rang Nath Mishra /ज्Āऺ रॠग नॊथ ोम঒

Correct Answer :­Just. J.S. Verma / ज्Āऺ जॕ. एऺ. शमॊ१ 

11)

Question Stimulus :­

General Knowledge

Who is the speaker of present Loksabha and also a member of parliament from Indore? / शत१मॊन
लख़कऺभॊ कॕ अĀ঴ कग़न ऻॖ और ऺॊथ ऻॎ इॠदग़र ऺॕ ऺॊॠऺद ऺदĀ ऻ॰?

Sumitra Mahajan /  ॏऺोमআॊ मऻॊजन

Maya Singh / मॊयॊ ो ॠऺऻ

Vasundhara Raje / श ॏऺॠधरॊ रॊजॕ
Margaret Alva / मॊग१रॕट अĀॊ



Margaret Alva / मॊग१रॕट अĀॊ

Correct Answer :­Sumitra Mahajan /  ॏऺोमআॊ मऻॊजन 

12)

Question Stimulus :­

General Knowledge

Which of the following is called Satpura ki Rani? / इनमॕ ऺॕ ऺतपॏरॊ कॎ रॊनॎ ोकऺॕ कऻॊ जॊतॊ ऻॖ?

Mount Abu / मॊउॠट अबॐ

Pachmarhi / पॠचमुॎ

Tapti / तॊ्Ā

Narmada / नम१दॊ

Correct Answer :­Pachmarhi / पॠचमुॎ 

13)

Question Stimulus :­

General Knowledge

Which of the following is the most populated city of Madhya Pradesh? / मĀ ঋदॕष कॊ ऺबऺॕ आबॊदॎ शॊलॊ
षऻर कग़न ऺॊ ऻ॰?

Indore / इॠदग़र

Bhopal / भख़पॊल



Jabalpur / जबलपॏर

Gwalior / ৖ॊोलयर

Correct Answer :­Indore / इॠदग़र 

14)

Question Stimulus :­

General Knowledge

At which river, the Kumbh mela is organized in Madhya Pradesh? / ोकऺ नदॎ पर,मĀ ঋदॕष म७ कॏ Ā मॕलॊ कॊ
आयख़जन ोकयॊ जॊतॊ ऻ॰?

Kshipra / ो঴ঋॊ

Narmada / नम१दॊ

Tapti / तॊ्Ā

Son / ऺख़न

Correct Answer :­Kshipra / ो঴ঋॊ 

15)

Question Stimulus :­

General Knowledge

Which of the following river is originated from Amarkantak? / इनमॕ ऺॕ कग़न ऺॎ नदॎ अमरकॠ टक ऺॕ ोनकलनॕ शॊलॎ
ऻ॰?

Narmada / नम१दॊ



Tapti / तॊ्Ā

Chambal / चॠबल

Mahanadi / मऻॊनदॎ

Correct Answer :­Narmada / नम१दॊ 

Topic:­ G3_General Hindi
1)

Question Stimulus :­

Hindi

ोनĀोल्खत षĀख़ॠ म७ ऺॕ ोभĀ षĀ कॊ चयन कॎोजए­

तॊत  

पॐĀ

ोपतॊ

मख़तॎ

Correct Answer :­मख़तॎ 

2)

Question Stimulus :­

Hindi

शत१मॊन ोऻĀॎ कॊ ঋचोलत ॺप ऻॖ­



अशधॎ

঍ज

दॕशनॊगरॎ

खीॎबख़लॎ

Correct Answer :­खीॎबख़लॎ 

3)

Question Stimulus :­

Hindi

‘Āॏोत’ षĀ कॊ ोशलख़म षĀ ऻख़गॊ­

ऺॕशक 

ोनशॕदन

ঋॊथ१नॊ

ोनĀॊ

Correct Answer :­ोनĀॊ 

4)

Question Stimulus :­

Hindi

‘खग’ कॊ पयॊय१शॊचॎ षĀ ऻख़गॊ­



मन

मयॐर

ोशऻग 

अनॏचर

Correct Answer :­ोशऻग  

5)

Question Stimulus :­

Hindi

नॎचॕ ोलखॕ षĀख़ॠ म७ कग़न­ऺॊ षॏĀ षĀ ऻख़गॊ­

ग॑ोऻणॎ

ঁोऻणॎ

ঁऻॎोण

ग॑ऻॎोण

Correct Answer :­ग॑ोऻणॎ 

6)

Question Stimulus :­

Hindi

‘ोदगĀर’ म७  ॠऺोध ोशৢॕद ऻख़गॊ­



ोदग् + अĀर

ोदक् + अĀर

ोदग + अĀर

ोदक + अĀर

Correct Answer :­ोदक् + अĀर 

7)

Question Stimulus :­

Hindi

अनॕक षĀख़ॠ कॕ ोलए एक षĀ कॊ चयन कॎोजए­ जख़ पॏॹहख़ ॠ कॕ अनॏॺप ऻख़­

पॏॹहख़ोचत

पग़ॹहॕय

पग़ॹह 

पॏॹह

Correct Answer :­पॏॹहख़ोचत 

8)

Question Stimulus :­

Hindi

‘अĀ + अभॊश’ म७  ॠऺोध ऻख़गॎ­



अĀॊभॊश

अĀअभॊश

अကॊभॊश

अĀआभॊश

Correct Answer :­अĀॊभॊश 

9)

Question Stimulus :­

Hindi

ोनĀोल्खत म७ षॏĀ शॊভ चयन कॎोजए­

मॕरॕ कख़ घर जॊनॊ चॊोऻए

म॰नॕ घर जॊनॊ चॊोऻए

मॏझॕ घर जॊनॊ चॊोऻए

मॏझकख़ घर जॊनॊ चॊोऻए

Correct Answer :­मॏझॕ घर जॊनॊ चॊोऻए 

10)

Question Stimulus :­

Hindi

‘घॎ कॊ लड्डॐ  टॕुॊ भॎ भलॊ’ मॏऻॊशर७  कॊ अथ१ ऻख़गॊ­



गॏणॎ က्ঢ कॎ आलख़चनॊ

घॎ कॊ लड्डॐ  ĀॊोदĀ ऻख़तॊ ऻॖ

उपयख़गॎ शĀॏ कॊ ॺप­रॠग नऻॎ ॠ दॕखॊ जॊतॊ

घॎ कॊ लड्डॐ  मँऻगॊ ऻख़तॊ ऻॖ।

Correct Answer :­उपयख़गॎ शĀॏ कॊ ॺप­रॠग नऻॎ ॠ दॕखॊ जॊतॊ 

11)

Question Stimulus :­

Hindi

ोदयॕ गए षĀ कॊ कग़न­ऺॊ पयॊय१शॊचॎ षĀ नऻॎ ॠ ऻॖ? ‘बॕटॊ’­

पॏআ

ॏऺत

आĀज

अঁज

Correct Answer :­अঁज 

12)

Question Stimulus :­

Hindi

छॊयॊशॊदॎ कॊက धॊरॊ कॕ ঋमॏख कोश ऻ॰­



जयषॠकर ঋऺॊद

धम१शॎर भॊरतॎ

भॊरत भॐहण

रॊमोशलॊऺ षमॊ१

Correct Answer :­जयषॠकर ঋऺॊद 

13)

Question Stimulus :­

Hindi

‘रॊत­ोदन’ म७ ऺमॊऺ ऻख़गॊ­

ोကगॏ

ကĀက

कम१धॊरय

अကयॎभॊश

Correct Answer :­ကĀက 

14)

Question Stimulus :­

Hindi

ोनĀोल्खत षĀ म७ उपऺग१ लगॊनॕ ऺॕ बननॕ शॊलॕ ऺऻॎ ोशकĀ कख़ चॏनॕ­ ‘ऺम्+अĀय’­



ऺमअĀय

ऺमख़Āय

ऺमॊĀय

ऺमĀय

Correct Answer :­ऺमĀय 

15)

Question Stimulus :­

Hindi

ोनĀोल्खत म७ ऺॕ ोकऺ षĀ म७ ‘अक’ ঋĀय नऻॎ ॠ ऻॖ?

ऺीक

र঴क

यॊचक

नत१क

Correct Answer :­ऺीक 

Topic:­ G3_General English
1)

Question Stimulus :­

English



Fill in the blank.

The meal she cooked was _____________.

Dazzling

Flashing

Delicious

Glistening

Correct Answer :­Delicious 

2)

Question Stimulus :­

English

Identify the given sentence.

May I borrow your umbrella?

Interrogative

Imperative

Declarative

Exclamatory

Correct Answer :­Interrogative 

3)



Question Stimulus :­

English

Fill in the blank. 

Yesterday, I _______ my hand while chopping vegetables.

cutted

cutting

has cut

cut

Correct Answer :­cut 

4)

Question Stimulus :­

English

Find the odd word out.

Desk, chair, table, bag

Desk

Chair

Table

Bag



Correct Answer :­Bag 

5)

Question Stimulus :­

English

What is the antonym: cruel (medium)

Inhuman

Merciless

Kind

Pitiless

Correct Answer :­Kind 

6)

Question Stimulus :­

English

What does the given idiom mean?

‘A bitter pill’

Necessary

Unpleasant

Joyous



Difficult

Correct Answer :­Unpleasant 

7)

Question Stimulus :­

English

Identify the given sentence.

John and James went to the park.

Compound

Simple

Complex

Imperative

Correct Answer :­Simple 

8)

Question Stimulus :­

English

What is the synonym of: curious

Inquiring

Ordinary



Indifferent

Common

Correct Answer :­Inquiring 

9)

Question Stimulus :­

English

Find the odd word out.

Jog, sprint, cough, run

Jog

Sprint

Cough

Run

Correct Answer :­Cough 

10)

Question Stimulus :­

English

Fill in the blank. 

He was asked in the court to _____________ his statement.



accuse

change

justify

think

Correct Answer :­justify 

11)

Question Stimulus :­

English

Which of the given words is spelt correctly?

Disappoint

Disapoint

Dissapoint

Dissappoint

Correct Answer :­Disappoint 

12)

Question Stimulus :­

English

Find the odd word out.



Football, cricket, rugby, badminton

Football

Rugby

Badminton

Cricket

Correct Answer :­Badminton 

13)

Question Stimulus :­

English

Which of the given words is spelt correctly?

Desperet

Desperate

Desperete

Desparate

Correct Answer :­Desperate 

14)

Question Stimulus :­

English



What does the given idiom mean?

‘All ears’

Listening carefully

Ignoring

Partially listening

Not being able to listen

Correct Answer :­Listening carefully 

Topic:­ G3_General Maths
1)

Question Stimulus :­

CANCELLED

Maths

A card is drawn from a well shuffled pack of cards. What is the probability that it is a red card or a
face card? / एक कॊड१ कख़ ोकऺॎ कॊड१ कॕ पॖक कॕ ऺॊथ अৢॎ तरऻ ोमलॊ ोदयॊ गयॊ ऻॖ|तख़ यॕ लॊल कॊड१ ऻॖ और यऻ ऺमतल कॊड१ ऻ॰
इऺकॊ अनॏमॊन कॖऺॕ लगॊएॠ गॕ?

19/26 / ͘͠/͙͝

9/13 / ͠/͚͘

8/13 / ͟/͚͘

37/52 / ͚͞/͙͜



Correct Answer :­8/13 / ͟/͚͘ 

2)

Question Stimulus :­

Maths

What is the magnitude of a vector A = 9i – j + 3k? / A = ͠i – j + ͚k शॕঠर कॊ पौरमॊण ভॊ ऻॖ?

√13 / √͚͘   

√31 / √͚͘

√81 / √͘͟

√91 / √͘͠

Correct Answer :­√91 / √͘͠ 

3)

Question Stimulus :­

Maths

Three numbers 4, (X – 6) and (X + 9) forms a geometric progression. What can be the possible
value of X? / तॎन  ॠऺূॊओ कॕ ͛ , (X – ͝)और(X + ͠) एक Āॊोमतॎय ॺप बनतॊ ऻॖ| X कॊ ोनोĀत मॊन ভॊ ऻख़गॊ?

16 / ͘͝

4 / ͛

1 / ͘



– 16 / ­͘͝

Correct Answer :­16 / ͘͝ 

4)

Question Stimulus :­

Maths

In a hotel the rent for the first three days in the hotel is Rs. 50/= per day and for the next five days
the rent will be Rs. 100/= per day and for the remaining days the rent will be Rs. 300/= per day.
Initially the registration fee is Rs. 50/=. If any guest paid upto Rs. 1300/= then for how many days
he stayed in it? / एक ऻख़टल म७ पऻलॕ तॎन ोदनख़ ॠ कॊ ोकरॊयॊ 50ॹपयॕ/=ঋोत ोदन ऻॖ और अगलॕ पॊॠच ोदनख़ ॠ कॊ ोकरॊयॊ 100
ॹपयॕ/=ঋोत ोदन ऻख़गॊ और षॕह ोदनख़ ॠ कॊ ोकरॊयॊ 300ॹपयॕ/=ঋोत ोदन ऻख़गॊ।षॏॹआत म७ पॠजॎकरण षॏĀ 50 ॹपयॕ ऻॖ।अगर कख़ई
मॕऻमॊन ͚͗͗͘ ॹपयॕ कॊ भॏगतॊन करतॊ ऻॖ तख़ ोकतनॕ ोदन शऻ शऻॊॠ ॹक ऺकतॊ ऻॖ?

7 days / ͞ ोदन

8 days / ͟ ोदन

9 days / ͠ ोदन

10 days / ͗͘ ोदन

Correct Answer :­10 days / ͗͘ ोदन 

5)

Question Stimulus :­

Maths

The sides of a triangle a, b, c are such that 2a = 3b = 4c and its perimeter is 208 cm. What is the
length of the longest side? / (ए,बॎ,ऺॎ) a, b, c ोআकख़ण कॕ प঴ 2a = 3b = 4c ऻॖ और उऺकॎ पौरोध ͙͗͟ ऺॕ.मॎ ऻॖ|उऺकॕ

बीॎ प঴ कॎ लĀॊई बतॊएँ?



बीॎ प঴ कॎ लĀॊई बतॊएँ?

48 cm / ͛͟ ऺॕ.मॎ

96 cm / ͠͝ ऺॕ.मॎ

64 cm / ͛͝ ऺॕ.मॎ

54 cm / ͛͜ ऺॕ.मॎ

Correct Answer :­96 cm / ͠͝ ऺॕ.मॎ 

6)

Question Stimulus :­

Maths

A certain sum of money doubles itself at a certain simple interest in 12 years. It will become more
than five times of itself in how many more years from the 12th year? / पॖऺख़ कॎ एक ोनोĀत रॊोष ͙͘ शहॳ म७
ऺॊधॊरण Āॊज पर दख़गॏनॎ ऻख़ जॊतॎ ऻॖ| यऻ ͙͘ शह१ ऺॕ ोकतनॕ ऺमय बॊद खॏद ऺॕ पॊॠच गॏणॊ Āॊदॊ ऻख़ जॊएगॎ?

48 years / ͛͟ ऺॊल

36 years / ͚͝ ऺॊल

24 years / ͙͛ ऺॊल

32 years / ͚͙ ऺॊल

Correct Answer :­36 years / ͚͝ ऺॊल 

7)



Question Stimulus :­

Maths

What are the factors of the expression x3 – x2 – 2x? / ကॠजक x3 – x2 – ͙x कॊ ভॊ कॊरक ऻॖ?

x, (x + 1), (x – 2) / x, (x + ͘), (x – ͙)

x, (x + 1), (x + 2) / x, (x + ͘), (x + ͙)

x, (x – 1), (x – 2) / x, (x – ͘), (x – ͙)

x, (x – 1), (x + 2) / x, (x – ͘), (x + ͙)

Correct Answer :­x, (x + 1), (x – 2) / x, (x + ͘), (x – ͙) 

8)

Question Stimulus :­

Maths

If 3 points, whose Cartesian­co ordinates are (1, 1), (x, 0) and (0, y) are collinear, then, which of
the following is correct? / योद 3अॠक, ोजऺकॊ कॊत५य ोनद८षॊॠक (͘, ͘), (x, 0) और (0, y) ऺमरॕख ऻॖ,तख़ इनम७ ऺॕ कग़न
ऺऻॎ ऻॖ?

x + y = 2xy / x + y = ͙xy

x – y = xy

x+y=2 / x+y=͙

x – y = 2xy / x – y = ͙xy

Correct Answer :­x+y=2 / x+y=͙ 



9)

Question Stimulus :­

Maths

What is the difference between sum and product of the two roots of the equation 4x2 – 5x + 13 =
0? / 4x2 – 5x + 13 = 0 म७ ऺमॎकरण कॕ दख़  मॐलख़ ॠ कॕ जख़ी और गॏणनफल कॕ बॎच कॊ अॠतर बतॊएँ?

2

­2

3

­3

Correct Answer :­­2 

10)

Question Stimulus :­

Maths

Given X = acosA + bsinA and Y = asinA – bcosA. What can be the value of a2 + b2? / ोदए गए X =
acosA + bsinA और Y = asinA – bcosA ऻख़गॊ | a2 + b2 कॊ मॊन ोनकॊल७?

X2 – Y2

X2 + Y2

2X2 + Y2



X2 –2 Y2

Correct Answer :­X2 + Y2 

11)

Question Stimulus :­

Maths

What is the Arithmetic Mean of first 100 natural numbers? / पऻलॕ ͗͗͘ ঋॊक॑ोतक  ॠऺূॊओ कॊ अॠकगोणतॎय मॊĀ
ভॊ ऻख़गॊ?

50 / ͗͜

50.5 / ͗͜.͜

51 / ͘͜

55 / ͜͜

Correct Answer :­50.5 / ͗͜.͜ 

12)

Question Stimulus :­

Maths

Find   of the function: y = 5x4 + 3x3 – 7x2 + x – 8 / y = ͜x4 + ͚x3 – ͞x2 + x – ͟ ऻॖ तख़   कॊ अॠतर
ोनकॊल७|

20x3 + 9x2 – 14x + 1 / ͙͗x3 + ͠x2 – ͛͘x + ͘



20x3 + 9x – 14x2 + 1 / ͙͗x3 + ͠x – ͛͘x2 + ͘

2x3 + 19x2 – 14x + 1  / ͙x3 + ͘͠x2 – ͛͘x + ͘

20x3 + 9x2 + 14x + 1 / ͙͗x3 + ͠x2 + ͛͘x + ͘

Correct Answer :­20x3 + 9x2 – 14x + 1 / ͙͗x3 + ͠x2 – ͛͘x + ͘ 

13)

Question Stimulus :­

Maths

The sum and difference between LCM and HCF of two numbers is 84 and 60 respectively. If one of
the numbers is 24, find the other number. / दख़  ॠऺূॊओ ॿमषॡ ͛͟ और ͗͝ कख़ लघॏतम ऺमĀĀशत१क और मऻĀम
ऺमĀĀशत१क कॕ जख़ी और गॏणनफल कॊ अॠतर ĀĀ कर७|अगर एक  ॠऺূॊ ͙͛ ऻॖ तख़ अက  ॠऺূॊ Āॊत कर७|

48 / ͛͟

36 / ͚͝

54 / ͛͜

16 / ͘͝

Correct Answer :­36 / ͚͝ 

14)

Question Stimulus :­

Maths



If Aditya’s salary is 25% more than Amit’s salary, then Amit’s salary is how much less than Aditya’s
salary? / अगर आोदĀ कॊ शॕतन अोमत कॕ शॕतन ऺॕ ͙͜% Āॊदॊ ऻॖ,तख़ अोमत कॊ शॕतन आोदĀ कॕ शॕतन ऺॕ ोकतनॊ कम ऻॖ?

16.67% / ͘͝.͝͞%

32.5% / ͚͙.͜%

20% / ͙͗%

22.5% / ͙͙.͜%

Correct Answer :­20% / ͙͗% 

Topic:­ G3_General Reasoning
1)

Question Stimulus :­

Reasoning

Muzzafar simultaneously throws 5 Dice which face 4, 6, 6, 2 and 3 respectively. What shall be the
 total of the exact opposite sides of the 5 Dice as thrown by him? / मॏिĀर एक ऺॊथ ͜ पॊऺॊ फ७ कतॊ ऻॖ
ोजऺकॊ अঁ भॊग ॿमषॡ ͛,͝,͝,͙ और ͚ ऻॖ|उऺकॕ ကॊरॊ फ७ कॕ गए ͜ पॊऺख़ ॠ कॕ ऺटॎक ोशपरॎत भॊगख़ ॠ कॊ यख़ग ভॊ ऻख़गॊ?

13 / ͚͘

23 / ͙͚

15 / ͘͜

14 / ͛͘

Correct Answer :­14 / ͛͘ 



2)

Question Stimulus :­

Reasoning

Find the Number that shall come in place of X.

एস(x) कॎ जगऻ पर आनॕ शॊलॕ अॠक कख़ Āॊत कर७|

1111  2248  3399  4471  5578  6699  X 

͘͘͘͘ ͙͙͛͟ ͚͚͠͠ ͛͛͘͞ ͜͜͟͞ ͝͝͠͠ एস

7741 / ͛͘͞͞

7788 / ͟͟͞͞

7749 / ͛͞͞͠

7739 / ͚͞͞͠

Correct Answer :­7741 / ͛͘͞͞ 

3)

Question Stimulus :­

Reasoning

Pointing towards Omna, Omkar said that, “She is the only girl child of my grandfather’s only child”.
How is Omkar related to Omna? / ओमनॊ कॎ तरफ इषॊरॊ करकॕ ओमकॊर कऻतॊ ऻॖ ोक, “शऻ मॕरॕ दॊदॊ कॕ इकलग़तॕ बৡॕ कॎ
इकलग़तॎ बৡॎ ऻॖ”. ओमकॊर कॊ ओमनॊ ऺॕ ভॊ  ॠऺबॠध ऻॖ?

Brother / भॊई



Uncle / चॊचॊ

Nephew / भतॎजॊ

Father / ोपतॊ

Correct Answer :­Brother / भॊई 

4)

Question Stimulus :­

CANCELLED

Reasoning

Given in the Chart is the Share Price movement of the Shares of M/s. LMN Limited at the Local
Stock Exchange on 3 different dates, 1­1­2014, 1­1­2015 and 1­1­2016 in Rupees.

Share Price Value of M/s. LMN Limited at Local Stock Exchange

दॎ गयॎ  ॐऺचॎ म७ एम/एऺ. एलएमएन ोलोमटॕड कॕ षॕयरख़ ॠ कॊ Āथॊनॎय षॕयर बॊिॊर म७ तॎन अलग अलग तॊरॎख, ͘­͘­͙͗͛͘, ͘­͘­͙͗͘͜ और ͘­͘­͙͗͘͝ कख़ मॐĀख़ ॠ कॎ चॊल कख़ ॹपयॕ म७
दषॊ१तॊ ऻॖ

Āथॊनॎय षॕयर बॊजॊर म७ एम/एऺ. एलएमएन ोलोमटॕड कॕ षॕयरख़ ॠ कॊ मॐĀ



 

What is the Maximum Difference in Money Terms between the Opening and Lowest Rates of the
shares of M/s. LMN Limited across the given period?

पॖऺख़ ॠ कॕ मॊमलॕ म७ एम/एऺ. एलएमएन ोलोमटॕड कॕ षॕयरख़ ॠ कख़ एक ोनोĀत अशोध म७ उद्घॊटन और उनकॕ ऺबऺॕ कम दरख़ ॠ कॕ बॎच कॊ
अोधकतम अॠतर ভॊ ऻॖ?

Rs. 32 /­ / ॹ. ͚͙/­

Rs. 22 /­ / ॹ. ͙͙/­

Rs. 37 /­ / ॹ. ͚͞/­

Rs. 27 /­ / ॹ. ͙͞/­

Correct Answer :­Rs. 22 /­ / ॹ. ͙͙/­ 

5)



Question Stimulus :­

Reasoning

Christmas was celebrated in the year 2015 on a Friday. In which year Christmas came on a Friday
before 2015. / शह१ ͙͗͘͜ म७ ोॿऺमऺ षॏॿशॊर कख़ मनॊयॊ गयॊ थॊ| ͙͗͘͜ ऺॕ पऻलॕ ोकऺ शह१ म७ ोॿऺमऺ षॏॿशॊर कख़ आयॊ थॊ|

2014 / ͙͗͛͘

2010 / ͙͗͗͘

2008 / ͙͗͗͟

2009 / ͙͗͗͠

Correct Answer :­2009 / ͙͗͗͠ 

6)

Question Stimulus :­

Reasoning

What shall come in place of  ?  in the given series of special characters? / ोदए गए ोशषॕह चौरআख़ ॠ कॎ ঒ॕोणयख़ ॠ म७
? कॎ जगऻ पर ভॊ आएगॊ?
x   x`   ?   x`~>  x^>`~

x

xx

x`

~x~



Correct Answer :­~x~ 

7)

Question Stimulus :­

Reasoning

Exactly how many times do the hands of a clock form a Right Angle in 24 Hours? / ͙͛ घॠटॕ म७ घीॎ कॎ
ॐऺई ोकतनॎ बॊर ऺमकख़ण बनतॎ ऻॖ? 

12 / ͙͘

36 / ͚͝

44 / ͛͛

22 / ͙͙

Correct Answer :­44 / ͛͛ 

8)

Question Stimulus :­

General Reasoning

Ananyaa bought 10 toffees and 5 pencils from the grocer for Rs. 40 /­. Subsequently, she returned
1 pencil and got 2 toffees in exchange. The price of each toffee would be:

अनကॊ ोकरॊनॊ दॏकॊन ऺॕ ͗͘ टॗूॎ और ͜ प७ोऺल ͛͗/­ॺपयॕ म७ खरॎदतॎ ऻॖ|इऺकॕ बॊद शऻ ͘प७ोऺल लग़टॊतॎ ऻॖ और उऺकॕ बदलॕ ͙टॗूॎ 
लॕतॎ ऻॖ|तख़ ঋĀॕक टॗूॎ कॊ दॊम  ভॊ ऻख़गॊ:

Rs. 3 /­  /  ͚/­ॹपयॕ



Rs. 2 /­  / ͙/­ॹपयॕ

Re. 1 /­ /  ͘/­ॹपयॕ

Rs. 4 /­ / ͛/­ॹपयॕ

Correct Answer :­Rs. 2 /­  / ͙/­ॹपयॕ 

9)

Question Stimulus :­

Reasoning

Five friends Ajoya, Ameya, Anaya, Abhaya, and Akshaya. Their  are Architect, Teacher, Painter,
Singer and Gymnast. None of them work on Saturdays, Sundays and any one other day of the week.
/ अजख़य, अमॕय, अनကॊ, अभय और अ঴य पॊॠच दख़Ā ऻ॰| ကशऺॊय ऺॕ शॕ शॊĀॏकॊर,ोष঴क,प७टर, ॠऺगॎतकॊर और ကॊयॊमपटॐ  ऻ॰| उनम७ ऺॕ
कख़ई भॎ षोनशॊर, रोशशॊर यॊ ऺĀॊऻ कॕ ोकऺॎ और ोदन कॊम नऻॎ ॠ करतॊ|

* Akshaya is a singer but does not practice on Tuesday. / * अ঴य गॊयक ऻॖ लॕोकन शऻ मॠगलशॊर कख़ अĀॊऺ नऻॎ ॠ
करतॊ|
* Ameya does the teaching but not on Friday. / * अमॕय पढॊतॊ ऻॖ  लॕोकन षॏॿशॊर कख़ नऻॎ ॠ|
* Architect and Gymnast work on Thursdays surely. / * शॊĀॏकॊर और ကॊयॊमपटॐ  गॏॺशॊर कख़ ोनोĀत कॊम करतॕ ऻ॰|
* Anaya likes to sing but that’s not her profession and she does not work on Wednesday. / * अनကॊ
गॊनॊ प ॠऺद करतॎ ऻॖ लॕोकन यऻ उऺकॊ ကशऺॊय नऻॎ ॠ ऻॖ और शऻ बॏधशॊर कख़ कॊम नऻॎ ॠ  करतॎ| / 
* Painter does not work on Wednesday, and Abhaya is not the painter. / * ोचআकॊर बॏधशॊर कख़ कॊम नऻॎ ॠ
करतॊ और अभय ोचআकॊर नऻॎ ॠ ऻॖ.
* Ajoya works on Monday and goes to leave his son for cricket practice on Fridays as he does not go
to office that day. / * अजख़य ऺख़मशॊर कख़ कॊम करतॊ ऻॖ और अपनॕ बॕटॕ कख़ ोॿकॕट कॕ अĀॊऺ कॕ ोलए छख़ीनॕ जॊतॊ ऻॖ ভख़ॠोक शऻ
उऺ ोदन ऑोफऺ नऻॎ ॠ जॊतॊ.

Which of the following is Most probably True? / इनम७ ऺॕ कग़न ऺॊ षॊयद ऺबऺॕ ऺऻॎ ऻॖ?

Anaya enjoys a Three­day long weekend each week. / अनကॊ ऻर ऺĀॊऻ कॕ ͚ ोदनख़ ॠ कॕ

ऺĀॊऻॊॠत कॊ आनॠद उठॊतॎ ऻॖ|



ऺĀॊऻॊॠत कॊ आनॠद उठॊतॎ ऻॖ|

All the friends are working on Wednesday. / ऺॊरॕ ोमআ बॏधशॊर कख़ कॊय१ करतॕ ऻ॰|

Akshaya too goes to leave Ajoya’s son on Friday. / अ঴य भॎ षॏॿशॊर कख़ अजख़य कॕ बॕटॕ कख़
छख़ीनॕ जॊतॊ ऻॖ|

Thursday for all of them is an Official Working Day. / गॏॺशॊर कख़ ऺबकॕ ोलए आोधकॊौरक
कॊय१कॊरॎ ोदशऺ ऻख़तॊ ऻॖ|

Correct Answer :­Thursday for all of them is an Official Working Day. / गॏॺशॊर कख़ ऺबकॕ ोलए आोधकॊौरक
कॊय१कॊरॎ ोदशऺ ऻख़तॊ ऻॖ| 

10)

Question Stimulus :­

Reasoning

Qaisar, Rhitwik, Vidhya, Tanjul, Sudhanshu, Prasad and Urvisha are sitting in a circular fashion
facing towards the Centre. / कॖऺर, ोऻ१्ကक, ोशĀॊ, तĀजॏल,  ॏऺधॊॠषॏ, ঋऺॊद और उोश१हॊ एक गख़लॊकॊर घॕरॕ म७ क७ ঈ कॎ तरफ मॏॠऻ
करकॕ बॖठॕ ऻ॰|

I. There are exactly two people sitting between Qaisar and Urvisha towards the left of Urvisha; /
1. उोश१हॊ कॕ बॊयॎ ॠ ओर  कॖऺर और उोश१हॊ कॕ मĀ म७ ͙ लख़ग बॖठॕ ऻ॰;

II. Sudhanshu is towards the left of Qaisar but on the Right of Urvisha, though none of them are
sitting exactly next to each other; / 2.  ॏऺधॊॠषॏ कॖऺर कॕ बॊॠयॎ तरफ लॕोकन उोश१हॊ कॕ दॊॠयॎ तरफ ऻॖ, जबोक दख़नख़ ॠ एक
दॐ ऺरॕ कॕ पॊऺ नऻॎ ॠ बॖठॕ ऻ॰.

III.   Only one person is such on whose left is a person whose name does not start with an alphabet
just next as per the English Alphabet series. / 3. मॊআ एक က्ঢ ोजऺकॕ बॊॠयॕ म७ एक က्ঢ ऻॖ ोजऺकॊ नॊम अॠঁॕजॎ
शण१मॊलॊ कॕ ोऻऺॊब ऺॕ अगलॕ शण१ ऺॕ षॏॺ नऻॎ ॠ ऻख़तॊ ऻॖ|

Which of the following is Most Probably False? / ोनĀोल्खत म७ ऺॕ कग़न ऺॊ षॊयद ऺबऺॕ गलत ऻॖ?



Prasad and Vidhya are sitting between Qaisar and Urvisha / ঋऺॊद और ोशĀॊ कॖऺर और
उोश१हॊ कॕ मĀ म७ बॖठॕ ऻ॰| 

Vidhya and Tanjul & Sudhanshu and Qaisar are seated immediately next to each
other / ोशĀॊ और तĀजॏल और  ॏऺधॊॠषॏ और कॖऺर एक दॐ ऺरॕ कॕ ोबलकॏ ल पॊऺ बॖठॕ ऻ॰|

Sudhanshu is seated between Urvisha and Qaisar. /  ॏऺधॊॠषॏ उोश१हॊ और कॖऺर कॕ बॎच म७ बॖठॊ ऻ॰|

Vidhya is seated between Prasad and Urvisha / ोशĀॊ ঋऺॊद और उोश१हॊ कॕ बॎच म७ बॖठॎ ऻ॰.

Correct Answer :­Vidhya and Tanjul & Sudhanshu and Qaisar are seated immediately next to each
other / ोशĀॊ और तĀजॏल और  ॏऺधॊॠषॏ और कॖऺर एक दॐ ऺरॕ कॕ ोबलकॏ ल पॊऺ बॖठॕ ऻ॰| 

11)

Question Stimulus :­

Reasoning

  In the question below are given Two Statements followed by Two Conclusions numbered I and II.
You have to take the given two Statements to be true even if they seem to be at variance from
commonly known facts. Read the Conclusions and then decide which of the given Conclusions
logically follows from the Two given Statements. /  नॎचॕ ोदए गए ঋĀॕक ঋĀ म७ दख़ कथन और दख़ ोनĀह१ ोदए गए ऻ॰ जख़ ͘ और ͙ ကॊरॊ
ॠऺূॊॠोकत ोकयॕ गए ऻ॰. अगर यॕ कथन ऺॊधॊरणतयॊ Āॊत तĀख़ॠ ऺॕ अलग ऻख़ ॠ तब भॎ आपकख़ ोदए गए दख़नख़ ॠ कथनख़ ॠ कख़ ऺĀ मॊननॊ ऻॖ, ोनĀहॵ कख़ पुॕ और ोनण१य कर७  कॎ कग़न ऺॊ

ोनĀह१ ोदए गए कथनख़ ॠ ऺॕ तक१ पॐण१ ĀोĀ ऺॕ उद्ध॑ त ऻख़तॊ ऻॖ. 

Give answer: / उĀर द७:

             A)If only conclusion I follows / क. अगर मॊআ ोनĀह१ ͘ कॕ ऺॊथ|

(B) If only conclusion II follows / ख. अगर मॊআॊ ोनĀह१ ͙ कॕ ऺॊथ|

(C) If either I or II follows / ग. अगर ͘ यॊ ͙कॕ ऺॊथ|



(D) If neither I nor II follows / घ. अगर नॊ तख़ ͘ नॊऻॎ ॠ ͙ कॕ ऺॊथ|

Statements: All monsoon winds bring rains. No rains are dry. / कथन: ऺॊरॎ मॗन ॐऺनॎ ऻशॊएॠ  शहॊ१ लॊतॎ ऻ॰| कख़ई
भॎ बॊौरष  ॐऺखॎ नऻॎ ॠ ऻख़तॎ|

Conclusions: / ोनĀह१:

I. All monsoon winds are dry. /1. ऺॊरॎ मॗन ॐऺनॎ ऻशॊएॠ   ॐऺखॎ ऻख़तॎ ऻ॰|

II. No winds are dry. / ͙. कख़ई भॎ ऻशॊ  ॐऺखॎ नऻॎ ॠ ऻख़तॎ ऻॖ|

A / क

B / ख

C / ग

D / घ

Correct Answer :­A / क 

12)

Question Stimulus :­

Reasoning

In an artificial language, milk teeth is written as doonetrmp, white teeth is written as doonezwnkl
and sheen teeth is written as dooneqjooi. / एक क॑ोআम भॊहॊ म७, ोमĀ ोतथ कख़ दॐ नॕআĀ ोलखॊ जॊतॊ ऻॖ, शॊइट ोतथ कख़ दॐ नॕĀĀनম और षॎन ोतथ
कख़ दॐ नॕĀजॐइ ोलखॊ जॊतॊ ऻॖ.

How is white milk written in that language? / शॊइट ोतथ कख़ उऺ भॊहॊ म७ कॖऺॕ ोलख७गॕ?

trmpdoone / टरॠपदॐ नॕ

qjooizwnkl / ভॐजख़ईजॕडशॠल



qjooizwnkl / ভॐजख़ईजॕडशॠल

trmpqjooi / तरॠपĀजख़ई

trmpzwnkl / तरॠपĀनম

Correct Answer :­trmpzwnkl / तरॠपĀनম 

13)

Question Stimulus :­

CANCELLED

Reasoning

Gatansha decides to take the last 10 letters of the following alphabet series and put them in the
beginning of the series while keeping the remaining alphabets in the series unchanged. / गतॊĀहॊ ोनĀॊॠोकत
शण१ॿम ঒ॠखलॊ कॕ अॠोतम ͗͘ शणॵ कख़ लॕकर ঒ॠखलॊ कॕ षॏॹआत म७ रखनॕ कॊ फॖऺलॊ करतॎ ऻॖ और शण१ॿम ঒ॠखलॊ कॕ बॊकॎ  शण१ॿम कख़ यथॊशत् छख़ी दॕतॎ ऻॖ.

A B C D E F G H I J K L M N O P Q R S T U V W X Y Z / एबॎऺॎडॎइएफजॎएचआईजॕकॕएलएमएनओपॎভॐआरएऺटॎयॏशॎडĀॐएসशॊईजॕड

Then using the Third, Eleventh, Fifteenth, Twenty Second and Twenty Fourth alphabets of the new
series she decides to make a meaningful word. Which of the following is most likely the word she
shall so form? / ोफर शऻ नई ঒ॠखलॊ कॕ तॎऺरॕ, ৓ॊरऻश७, पॠঈऻश७, बॎऺश७ और चग़बॎऺश७ शणॵ कॕ ঋयख़ग ऺॕ एक अथ१पॐण१ षĀ बनॊनॕ कॊ ोनण१य लॕतॎ ऻॖ. इऺ तरऻ शऻ
ोनĀॊॠोकत म७ ऺॕ कग़न ऺॊ षĀ बनॊएगॎ?

LOTUS / लख़टऺ

LINES / लॊइĀ

LANES / लॕĀ

CORUS / कख़रऺ



Correct Answer :­LANES / लॕĀ 

14)

Question Stimulus :­

Reasoning

 In a certain Code Language using Code symbols for Mathematical operations: / गोणतॎय कॊय१ कॕ ोलए
ऺॊॠकॕोतक भॊहॊ  एक खॊऺ ऺॊॠकॕोतक ोचĀख़ ॠ कॊ उपयख़ग 

19 + 3 = 16 ; / ͘͠ + ͚ = ͘͝ ; 
18 – 2 = 9 ; / ͘͟ – ͙ = ͠ ; 
11 × 11 = 22 and / ͘͘ × ͘͘ = ͙͙ और 
8 ÷ 3 = 24 / ͟ ÷ ͚ = ͙͛ 
 

Evaluate the following operation in this code language / इऺ ऺॊॠकॕोतक भॊहॊ म७ ोनĀ ऑपरॕषन कॊ मॐĀॊॠकन
15 x 3 – 6 + 2 ÷ 9 = ? / ͘͜x ͚ – ͝+͙ –͠=?

9 / ͠

18 / ͘͟

6 / ͝

12/ ͙͘

Correct Answer :­9 / ͠ 

Topic:­ G3_General Science
1)

Question Stimulus :­



General Science

The Organism that carries a disease from an Organism to another is known as: / एक जॎश ऺॕ अက जॎश म७
रख़ग शऻन करनॕ शॊलॊ जॎश कऻलॊतॊ ऻॖ:

Vector / रख़गशॊऻक (शॕঠर)

Parasite / परजॎशॎ (पॖरॊऺॊइट)

Host / पख़ोहतॊ (ऻख़Ā)

Motion / गोत (मख़षन)

Correct Answer :­Vector / रख़गशॊऻक (शॕঠर) 

2)

Question Stimulus :­

General Science

The temperature at and above which a ferromagnetic material becomes paramagnetic is called:­ /
शऻ तॊपमॊन ोजऺ पर एशॠ ोजऺकॕ ऊĀ१ एक लग़ऻचॏॠबकॎय शĀॏ अनॏचॏॠबकॎय बन जॊतॊ ऻॖ, शऻ कऻलॊतॊ ऻॖ:­

Critical temperature / ॿॊॠोतक (ोशहम) तॊपमॊन

Inversion temperature / ोशलख़मन तॊपमॊन

Currie temperature / कर५ तॊपमॊन

Debye temperature / डॕबॊई तॊपमॊन

Correct Answer :­Currie temperature / कर५ तॊपमॊन 



3)

Question Stimulus :­

General Science

The number of lenses in a terrestrial telescope are: / एक पॊोथ१श दॐ रबॎन म७ शॎ঴ख़ ॠ (ल७ऺ) कॎ  ॠऺূॊ ऻख़तॎ ऻॖ:

3 / ͚

2 / ͙

4 / ͛

6 / ͝

Correct Answer :­3 / ͚ 

4)

Question Stimulus :­

General Science

The difference between Systolic and Diastolic Pressure is: / ঋकॏॠ चक (ोऺĀख़ोलक) एशॠ ঋऺॊरक (डॊयॊĀख़ोलक)
दॊब कॊ अॠतर ऻॖ:

Heart Beat / ॼद्Āॠदन

Pulse Pressure / नॊीॎ दॊब

Blood Pressure / रঢ चॊप

Sugar Content in Blood / रঢ म७ षक१ रॊ कॎ मॊআॊ



Correct Answer :­Pulse Pressure / नॊीॎ दॊब 

5)

Question Stimulus :­

General Science

Cod liver oil is: / कॗड यक॑त तॖल (ोलशर ऑयल) ऻॖ:

Emulsion / पयĀ (घख़ल)

Suspension / ोनलॠबन (ऺĀ७षन)

Colloidal Solution / कोललॎय ोशलयन

Repulsion / परॊजय (ौरपĀहन)

Correct Answer :­Emulsion / पयĀ (घख़ल) 

6)

Question Stimulus :­

General Science

The colour that appears on the thin film of soap and soap bubble is due to a phenomena known as:
/ ऺॊबॏन कॎ पतलॎ पĀॎ एशॠ ऺॊबॏन कॕ बॏलबॏलख़ ॠ पर जख़ रॠग ोदखतॊ ऻॖ शऻ एक घटनॊ कॕ कॊरण ऻख़तॊ ऻॖ जख़ कऻलॊतॊ ऻॖ:

Dispersion / ोश঴ॕपण (ोबखरॊश)

Refraction / अपशत१न

Interference / ကोतकरण

Diffraction / ोशशत१न (ोशऺरण)



Diffraction / ोशशत१न (ोशऺरण)

Correct Answer :­Interference / ကोतकरण 

7)

Question Stimulus :­

General Science

Following are breeds of cows, except: / ोनĀोल्खत गख़­शॠष (गॊयख़ ॠ कॕ नက) ऻॖ, ोऺशॊय:

Jersey / जऺ५

Nagpuri / नॊगपॏरॎ

Sahiwal / ऺॊोऻशॊल

Sindhi / ो ॠऺधॎ

Correct Answer :­Nagpuri / नॊगपॏरॎ 

8)

Question Stimulus :­

General Science

The Acetic Acid contained in Vinegar is: / ोऺरकॊ (ोशनॕगर) म७ ्Āथत षॏঢॊĀ (एोऺोटक एोऺड) ऻॖ:

15 – 20 % / ͘͜ ­ ͙͗ %

30 – 35 % / ͚͗ ­ ͚͜ %

90 – 100 % / ͗͠ ­ ͗͗͘ %



7 – 8 % / ͞ ­ ͟ %

Correct Answer :­7 – 8 % / ͞ ­ ͟ % 

9)

Question Stimulus :­

General Science

In a food chain, Lion is a: / एक खॊĀ­঒॑ॠखलॊ म७, ो ॠऺऻ ऻॖ एक:

Tertiary Consumer / त॑तॎयक (त॑तॎय­Āर) भ঴क (ঁॊऻक)

Primary Consumer / ঋॊथोमक (ঋथम­Āर) भ঴क (ঁॊऻक)

Secondary Consumer / ोကतॎयक (ोကतॎय­Āर) भ঴क (ঁॊऻक)

Annexed Provider / उप­पख़हणकतॊ१

Correct Answer :­Tertiary Consumer / त॑तॎयक (त॑तॎय­Āर) भ঴क (ঁॊऻक) 

10)

Question Stimulus :­

General Science

Amrita is sitting in an open jeep which is moving at a constant velocity and throws a ball vertically
into the air above, the ball shall fall: / अम॑तॊ एक खॏलॕ जॎप म७ बॖठॎ ऻॖ जख़ ोक अपौरशोत१त गोत ऺॕ चल रऻॎ ऻॖ एशॠ शऻ ऊपर
ऻशॊ म७ लॠबशत (ऺॎधॊ) एक ग७द फ७ कतॎ ऻॖ, ग७द ोगरॕगॊ:

Outside the Jeep / जॎप कॕ बॊऻर

Exactly back in her hands / ऺठॎक उऺकॕ ऻॊथख़ ॠ म७
In the Jeep to the person sitting behind her / जॎप म७ उऺकॕ पॎछॕ बॖठॕ ॽए က्ঢ पर



In the Jeep to the person sitting behind her / जॎप म७ उऺकॕ पॎछॕ बॖठॕ ॽए က्ঢ पर

In the Jeep to the person sitting in front of her / जॎप म७ उऺकॕ ऺॊमनॕ बॖठॕ ॽए က्ঢ पर

Correct Answer :­Exactly back in her hands / ऺठॎक उऺकॕ ऻॊथख़ ॠ म७ 

11)

Question Stimulus :­

General Science

Age of a tree can be estimated by: / ोकऺॎ श॑঴ कॕ शय कॊ अनॏमॊन इऺकॕ ကॊरॊ लगॊयॊ जॊ ऺकतॊ ऻॖ:

Its height and girth / उऺकॎ ऊँचॊई एशॠ मख़टॊई

Biomass / जॖश भॊर

Number of annual rings  / शॊोह१क शलयख़ ॠ कॎ  ॠऺূॊ

Diameter of its heartwood / मम१­कॊĀ कॊ ကॊऺ

Correct Answer :­Number of annual rings  / शॊोह१क शलयख़ ॠ कॎ  ॠऺূॊ 

12)

Question Stimulus :­

General Science

Who is the present Minister of Environment, Forests and Climate Change, Government of India? /
भॊरत ऺरकॊर म७ शत१मॊन पयॊ१शरण, शन एशॠ जलशॊयॏ पौरशत१न मॠআॎ कग़न ऻ॰?

Ms. Maneka Gandhi /  ॏऺ঒ॎ मॕनकॊ गॊॠधॎ



Mr. Prakash Javadekar, / ঒ॎ ঋकॊष जॊशीॕकर

Ms. Najma Heptullah /  ॏऺ঒ॎ निमॊ ऻॕĀॏĀॊऻ

Mr. Manohar Parrikar / ঒ॎ मनख़ऻर पौर१कर

Correct Answer :­Mr. Prakash Javadekar, / ঒ॎ ঋकॊष जॊशीॕकर 

13)

Question Stimulus :­

General Science

In which of the following animals, diaphragm has no role to play during the process of respiration?
/ ोनĀोल्खत म७ ऺॕ कग़न ऺॕ जॠतॏ  म७, Āऺन कॕ ऺमय मĀৢद (डॊयॊঌॊम) कॎ कख़ई भॐोमकॊ नऻॎ ॠ ऻख़तॎ?

Camel / ऊँट

Rat / मॐहक

Frog / म७ढक

Dog / Āॊन

Correct Answer :­Frog / म७ढक 

14)

Question Stimulus :­

General Science

The main function of the switch is to:­  / बटन (्Āच) कॊ मॏূ कॊय१ _____ करनॊ ऻॖ|

complete or break a circuit / ोकऺॎ पौरपथ कख़ पॐण१ करनॊ यॊ भॠग करनॊ



complete or break a circuit / ोकऺॎ पौरपथ कख़ पॐण१ करनॊ यॊ भॠग करनॊ

make the bulb glow easily / शॖद्यॏ ोतक दॎप (बĀ) कख़ ऺरलतॊपॐश१क ঋकॊषमॊन करनॊ

all charges to flow / ऺभॎ आशॕषख़ॠ कख़ ঋशॊोऻत करनॊ

Prevent electric shocks / शॖद्यॏ ोतक आघॊतख़ ॠ (षॗक) कख़ ोनरख़ोधत करनॊ

Correct Answer :­complete or break a circuit / ोकऺॎ पौरपथ कख़ पॐण१ करनॊ यॊ भॠग करनॊ 

Topic:­ G3_General Computer Knowledge
1)

Question Stimulus :­

Computer

MAN stand for: / मॖन (एमएएन) ऺॕ अोभঋॊय ऻॖ:

Metropolitan Area Network / मऻॊनगरॎय ঴ॕআ तॠআजॊल (मॕट३ ख़पॗोलटन एौरयॊ नॕटशक१ )

My Area Net / मॕरॊ ঴ॕআ  ॠऺजॊल (मॊय एौरयॊ नॕटशक१ )

Mean Area Network / मĀ ঴ॕআ तॠআजॊल (मॎन एौरयॊ नॕटशक१ )

Metro  Area Network / भॐोमगत ঴ॕআ तॠআजॊल (मॕट३ ख़ एौरयॊ नॕटशक१ )

Correct Answer :­Metropolitan Area Network / मऻॊनगरॎय ঴ॕআ तॠআजॊल (मॕट३ ख़पॗोलटन एौरयॊ नॕटशक१ ) 

2)

Question Stimulus :­

Computer



_________ is NOT the probable number representation format. / ________  ॠऺभॊက  ॠऺূॊ ोनॺपण ঋपআ
नऻॎ ॠ ऻॖl

octal / अĀक

Hexa­octal / हु­अĀक

decimal / दषमलश

Binary coded decimal / ोကचर कॐ टबĀ दषमलश

Correct Answer :­Hexa­octal / हु­अĀक 

3)

Question Stimulus :­

Computer

Internet Explorer comes inbuilt along with ____ / इॠटरनॕट एঽख़रर ______ कॕ ऺॊथ अĀोन१ोऻत आतॊ ऻॖ

Linux / ोलनস

MAC / मॖक

Windows / ोशॠडख़ज

Android / एॠ ड३ ॊइड

Correct Answer :­Windows / ोशॠडख़ज 

4)

Question Stimulus :­



Computer

Back  panel of computer CPU does not  consists of : /  ॠऺगणक ऺॎपॎयॐ कॕ पĀॊतशत५ पोĀकॊ म७ यऻ ऺ्Āोलत नऻॎ ॠ
ऻख़तॊ:

RS­322 Connector / आरएऺ­͚͙͙  ॠऺयख़जक

Network Connector / तॠআजॊल  ॠऺयख़जक

USB connector  / यॐएऺबॎ  ॠऺयख़जक

Speaker connector / भॊहक (Āॎकर)  ॠऺयख़जक

Correct Answer :­RS­322 Connector / आरएऺ­͚͙͙  ॠऺयख़जक 

5)

Question Stimulus :­

Computer

________________computer uses concept of artificial intelligence? / __________  ॠऺगणक क॑ोআम मॕधॊ
कॕ अशधॊरणॊ कॊ उपयख़ग करतॊ ऻॖ|

Second Generation / ोကतॎय ঋजĀ

Third Generation / त॑तॎय ঋजĀ

Fourth  Generation / चतॏथ१ ঋजĀ

Fifth  Generation / पॠचम ঋजĀ

Correct Answer :­Fifth  Generation / पॠचम ঋजĀ 



6)

Question Stimulus :­

Computer

Pseudo code is used for: / छĀ कॐ ट इऺ ऻॕतॏ ကशॼत ऻख़तॊ ऻॖ:

Denoting the program Flow / ॿमॊदॕष ঋशॊऻ कख़ दषॊ१नॊ

To make structure chart /  ॠऺरचनॊ ऺॊरणॎ ोनमॊ१ण ऻॕतॏ

For coding the program / ॿमॊदॕष कख़ कॐ टबĀ करनॕ कॕ ोलए

To write program steps / ॿमॊदॕष चरण ोलखनॕ ऻॕतॏ

Correct Answer :­To write program steps / ॿमॊदॕष चरण ोलखनॕ ऻॕतॏ 

7)

Question Stimulus :­

Computer

Operating system is: / ঋचॊलन तॠআ ऻॖ:

Hardware / यॠআॊॠष

Software which manage resources of the system / तĀॊॠष जख़ तॠআ कॕ ঔख़तख़ ॠ कॊ ঋबॠधन करॕ

Software which performs computation / तĀॊॠष जख़  ॠऺगणन करॕ

None of these / इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Software which manage resources of the system / तĀॊॠष जख़ तॠআ कॕ ঔख़तख़ ॠ कॊ ঋबॠधन करॕ 



8)

Question Stimulus :­

Computer

_______is/are function key(s) available on keyboards. / _______ कॏॠ जॎ पॊतॊल पर उपलĀ ोॿयॊ कॏॠ जॎ(यॊँ)
ऻॖ/ऻ॰|

ALTER / ऑĀर

ULTER / आĀर

Pointer / पॗइॠटर 

Inter / इॠटर

Correct Answer :­ALTER / ऑĀर 

9)

Question Stimulus :­

Computer

____________is a case sensitive language. / ________ एक अ঴र­ ॠऺशॕदनषॎल भॊहॊ ऻॖ| 

C++ / ऺॎ++

Pascal  / पॊĀल

BASIC  / बॕोऺक

All  of above / उपरख़ঢ ऺभॎ



Correct Answer :­C++ / ऺॎ++ 

10)

Question Stimulus :­

Computer

Types of RAM are____________________ / रॖम कॕ ঋकॊर ऻ॰ _____________

DDR / डॎडॎआर

DDR­3 / डॎडॎआर­͚

DDR­1 / डॎडॎआर­͘

All of the above / उपरख़ঢ ऺभॎ

Correct Answer :­All of the above / उपरख़ঢ ऺभॎ 

11)

Question Stimulus :­

Computer

______________is also treated as valid storage type. / _________ कख़ मॊက भĀॊरण ঋकॊर कॕ ॺप म७ भॎ
मॊनॊ जॊतॊ ऻॖ|

CPU / ऺॎपॎयॐ

Keyboard / कॏॠ जॎपटल

SD/(Secured Digital CARD / एऺडॎ / ( ॏऺरो঴त अॠकॎय पআक)



ZIP File / ोिप ( ॠऺकॏ ोचत) ोमोऺल

Correct Answer :­SD/(Secured Digital CARD / एऺडॎ / ( ॏऺरो঴त अॠकॎय पআक) 

12)

Question Stimulus :­

Computer

_________________ is/are known as renowned manufacturers of computers / __________ कख़
ॠऺगणकख़ॠ कॕ ঋोऺĀ ोनमॊ१तॊ कॕ ॺप म७ जॊनॊ/जॊनॕ जॊतॊ/जॊतॕ ऻॖ/ऻ॰

IBM and HP / आईबॎएम एशॠ एचपॎ

Onida / ऑोनडॊ

DWELL / ड्शॕल

OASIS / ओएोऺऺ

Correct Answer :­IBM and HP / आईबॎएम एशॠ एचपॎ 

13)

Question Stimulus :­

Computer

___________is not a System software? / ___________ एक पौरतॠআ तĀॊॠष नऻॎ ॠ ऻॖ|

Compiler /  ॠऺकलक (अनॏभॊहक)

Power Point  / पॊशर पॗइॠट



Debugger / আॏोटनॊषक (ोडबगर)

Loader / भॊरक (लख़डर)

Correct Answer :­Power Point  / पॊशर पॗइॠट 

14)

Question Stimulus :­

Computer

CPU consists of: / ऺॎपॎयॐ इनऺॕ बनॊ ऻख़तॊ ऻॖ

ALU+CU  / एएलयॐ + ऺॎयॐ

ROM+ALU / रॗम + एएलयॐ

RAM+ROM / रॖम + रॗम

None / कख़ई नऻॎ ॠ

Correct Answer :­None / कख़ई नऻॎ ॠ 

Topic:­ G3_Civil
1)

Question Stimulus :­

Civil

Given figure represent which type of instrument used for chain Surveying /  ोदयॊ गयॊ ोचআ ঒॑ॠखलॊ ऺश८঴ण
कॕ ोलए उपयख़ग ोकए जॊनॕ शॊलॕ ोकऺ ঋकॊर कॕ उपकरण कॊ ঋोतोनोधက करतॊ ऻ॰



Closed cross staff / মख़Ā ॿॗऺ Āॊफ

Adustable cross staff / एडजĀॕबल  ॿॗऺ Āॊफ

French cross staff / ঌ७ च ॿॗऺ Āॊफ

Open cross staff / ओपन ॿॗऺ Āॊफ

Correct Answer :­Open cross staff / ओपन ॿॗऺ Āॊफ 

2)

Question Stimulus :­

Civil

For a jeepable road in hilly area gradient of 1 in 12 what will be the maximum gradient
recommended. / पऻॊीॎ ঴ॕআ म७ 12 म७ 1 ढॊल शॊलॕ जॎप ऺ঴म ऺीक कॕ ोलए ोकतनॕ अोधकतम ढॊल कॎ ोऺफॊौरष कॎ जॊनॎ
चॊोऻए।

1 to 7 / 1 ऺॕ 7



1 to 12 / 1 ऺॕ 12

1 to 15 / 1 ऺॕ 15

1 to 30 / 1 ऺॕ 30

Correct Answer :­1 to 7 / 1 ऺॕ 7 

3)

Question Stimulus :­

Civil

 Following figure indicate which type of joint: / ोनĀॊॠोकत ोचআ ोकऺ ঋकॊर कॕ  ॠऺोध कख़ ঋदोष१त करतॊ ऻॖ:

Spiget and Socket joint / पॊनॎ कॊ कल और गोत१कॊ  ॠऺोध

Hydraulic joint / ऻॊइड३ ख़ोलक  ॠऺोध

Flanged pipe joint / ोनकलॊ ॽआ ोकनॊरॕ शॊलॕ पॊइप कॕ  ॠऺोध

Expanision joint / ोशĀॊर  ॠऺोध

Correct Answer :­Expanision joint / ोशĀॊर  ॠऺोध 



4)

Question Stimulus :­

Civil

The narrow strip of land at the ground level between the inner toe of the bank and top edge of
cutting is known as: / ोकनॊरॕ कॕ भॎतरॎ छख़र तथॊ कॊटनॕ कॕ ऊपरॎ ोकनॊरॕ कॕ बॎच जमॎनॎ Āर पर भॐोम कॎ  ॠऺकॎण१ पĀॎ ोकऺ कॕ
ॺप म७ जॊनॎ जॊतॎ ऻॖ:

Free board / Āतॠআ पटल (षॎहॊ४तर)

Dowel / ोगĀक

Spoil bank / खरॊब तट 

Berm / उपतट

Correct Answer :­Berm / उपतट 

5)

Question Stimulus :­

Civil

If the PO value is 3 which it means: \ अगर पॎओ कॊ मॊन 3 ऻॖ तख़ इऺकॊ अथ१ ऻॖ:

Water got faint odour / जल म७ ऻĀॊ गॠध ोमलॊ ऻॖ 

Water got distinct odour / जल म७ ोशोषĀ गॠध ोमलॊ ऻॖ

Water got strong odour / जल म७ मजबॐत गॠध ोमलॊ ऻॖ

Water got extermely strong odour / जल म७ बॕऻद मजबॐत गॠध ोमलॊ ऻॖ



Water got extermely strong odour / जल म७ बॕऻद मजबॐत गॠध ोमलॊ ऻॖ

Correct Answer :­Water got distinct odour / जल म७ ोशोषĀ गॠध ोमलॊ ऻॖ 

6)

Question Stimulus :­

CANCELLED

Civil

In which method the field is divided into a number of long parallel strips? / ोकऺ ोशोध म७ खॕतख़ ॠ कख़ अनॕकख़ ॠ
लॠबॕ ऺमॊनॊॠतर पोĀयख़ ॠ म७ ोशभॊोजत ोकयॊ जॊतॊ ऻॖ

Border flooding irrigation / ऺॎमॊ ঋशॊोऻत ो ॠऺचॊई  

Furrow irrigation / खॊँचॕ म७ ो ॠऺचॊई

Free flooding irrigation / खॊँचॕ म७ ो ॠऺचॊई

Check flooding irrigation / ঋशॊोऻत ो ॠऺचॊई परॎ঴ण 

Correct Answer :­Border flooding irrigation / ऺॎमॊ ঋशॊोऻत ो ॠऺचॊई   

7)

Question Stimulus :­

Civil

The ratio of cultivated land for a particular crop to the total culturable command area is called as:
/ एक ोशषॕह फऺल कॎ खॕतॎ कॕ ोलए भॐोम ऺॕ कॏ ल क॑ोह यख़৓ कमॊन ঴ॕআ कॕ अनॏपॊत कख़ ভॊ कऻॊ जॊतॊ ऻॖ:

Intensity of irrigation / ो ॠऺचॊई कॎ तॎ঑तॊ



Crop ratio / फऺल अनॏपॊत

Overlap allowance  / अोतကॊ्Ā अनॏĀॊ

Root zone depth  / ॺट जख़न कॎ गऻरॊई

Correct Answer :­Intensity of irrigation / ो ॠऺचॊई कॎ तॎ঑तॊ 

8)

Question Stimulus :­

Civil

__________is the distance between the centre of rivet hole to the nearest edge of the plate. /
 __________थॊलॎ कॕ ोनकटतम ोकनॊरॕ ऺॕ कॎलक कॕ छॕद कॕ क७ ঈ कॕ बॎच कॎ दॐ रॎ ऻॖ।

Tacking rivets / कॎलक टॖोकॠ ग

Pitch / ोपच

Nominal diameter / औऺत ကॊऺ

Margin / ऻॊोषयॊ

Correct Answer :­Margin / ऻॊोषयॊ 

9)

Question Stimulus :­

Civil

The ratio of weight of water to the weight of solids is called:­ / ठख़ऺ कॕ भॊर ऺॕ पॊनॎ कॕ भॊर कॕ अनॏपॊत कख़ ভॊ
कऻॊ जॊतॊ ऻॖ: ­



Void ratio / षॐက अनॏपॊत

Water content / पॊनॎ कॎ मॊআॊ

Degree of saturation /  ॠऺत्॑Ā कॊ पौरमॊण 

Porosity / ऺरॠউतॊ

Correct Answer :­Water content / पॊनॎ कॎ मॊআॊ 

10)

Question Stimulus :­

Civil

What is defined as the apex of the angle formed by the termination of the inclined surface at the
top of a slope? / एक ढलॊन कॕ षॎह१ पर झॏकॕ ऺतऻ कॕ ऺमॊपन ကॊरॊ ोनोम१त कख़ण कॕ षॎह१ कख़ ोकऺ ॺप म७ पौरभॊोहत ोकयॊ गयॊ
ऻॖ?

Valley / घॊटॎ

Ridge / कटक

Eaves / कॠ गनॎ

Pitch of the roof / छत कॎ ोपच

Correct Answer :­Ridge / कटक 

11)

Question Stimulus :­



Civil

Given figure represents which type of bituminous road: / ोदयॊ गयॊ ोचআ ोकऺ ঋकॊर कॕ ोबटॏोमनऺ ऺीक कॊ
ঋोतोनोधက करतॊ ऻॖ:

Bituminous macadam road / ोबटॏोमनऺ ोगĀॎ ोकए ॽए ऺीक 

Bituminous full grounded macadam road / ोबटॏोमनऺ पॐण१ जमॎनॎ रख़ीॎ शॊलॕ ऺीक

Bituminous concrete / ोबटॏोमनऺ कॠ ॿॎट 

Bituminous sheet asphalt / ोबटॏोमनऺ पআक डॊमर

Correct Answer :­Bituminous macadam road / ोबटॏोमनऺ ोगĀॎ ोकए ॽए ऺीक  

12)

Question Stimulus :­

Civil

 Find the plinth area of the building if a building with ground floor of 220 m2 and first floor of 200
m2 is constructed over a plot of area 25 m × 30 m. / भशन कॕ कॏ ऺ५ कॊ ঴ॕআफल Āॊत कर७  योद 220एम2 कॕ भॐतल
और 200एम2 कॎ पऻलॎ मॠोजल शॊलॕ एक भशन कॊ ोनमॊ१ण 25 मॎटर × 30 मॎटर कॕ एक भॐखॠड पर ोकयॊ गयॊ ऻॖ।

418 m2 / 418 एम2

419 m2 / 419 एम2



420 m2 / 420 एम2

421 m2 / 421 एम2

Correct Answer :­420 m2 / 420 एम2 

13)

Question Stimulus :­

Civil

Open areas, court yard and balconies are NOT included in which area during valuation? / खॏलॕ ঴ॕআ,
आॠगन और बॊलकोनयख़ ॠ कख़ मॐĀॊॠकन कॕ दग़रॊन ोकऺ ঴ॕআ म७ षॊोमल नऻॎ ॠ ोकयॊ जॊतॊ ऻ॰?

Plinth area / कॏ ऺ५ कॊ ঴ॕআफल

Plot area / ोनोĀत भॐभॊग कॕ ঴ॕআफल

Carpet area / फष१ कॕ ঴ॕআफल 

Floor area / धरॊतल कॕ ঴ॕআफल

Correct Answer :­Plinth area / कॏ ऺ५ कॊ ঴ॕআफल 

14)

Question Stimulus :­

Civil

Find the tensile stress of a mild steel rod of 18 mm diameter.Given: ultimate load = 9.0 ton. / 18
ोममॎ ကॊऺ शॊलॕ एक ऻĀॕ Āॎल रॗड कॊ तनन ঋोतबल Āॊत कर७। ोदयॊ गयॊ ऻॖ: मॏূ लख़ड = 9.0 टन।

0.03 T/sq.mm / 0.03 टॎ/शग१.ोमलॎमॎटर



0.03 T/sq.mm / 0.03 टॎ/शग१.ोमलॎमॎटर

0.07 T/sq.mm / 0.04 टॎ/शग१.ोमलॎमॎटर

0.05 T/sq.mm / 0.05 टॎ/शग१.ोमलॎमॎटर

0.06 T/sq.mm / 0.06 टॎ/शग१.ोमलॎमॎटर

Correct Answer :­0.03 T/sq.mm / 0.03 टॎ/शग१.ोमलॎमॎटर 

15)

Question Stimulus :­

Civil

The property of a liquid which enables it to resist tensile stress is known as: / एक तरल कॊ गॏण जख़ इऺॕ
तက तनॊश कॊ ोशरख़ध करनॕ म७ ऺ঴म बनॊतॊ ऻॖ, कॕ ॺप म७ जॊनॊ जॊतॊ ऻॖ:

Surface tension / प॑Āतनॊश

Capillarity / कॖोषकतॊ

Compressibility /  ॠऺपॎĀतॊ

Viscosity / Āॊनतॊ

Correct Answer :­Surface tension / प॑Āतनॊश 

16)

Question Stimulus :­

Civil



The ratio of the plasticity index to the soil fraction is known as: / म॑दॊ अॠष कॕ ोलए  ॏऺघĀतॊ  ॐऺचकॊॠक कॕ
अनॏपॊत कख़ जॊनॊ जॊतॊ ऻॖ:

activity of clay / ोचकनॎ ोमĀॎ कॊ कॊय१ 

toughness index / ऺিतॊ  ॐऺचकॊॠक

liquidity index / तरलतॊ  ॐऺचकॊॠक

relative consistency / ऺॊपॕो঴क ्Āथरतॊ

Correct Answer :­activity of clay / ोचकनॎ ोमĀॎ कॊ कॊय१  

17)

Question Stimulus :­

Civil

In the design aspects of septic tank what should be about 40 to 60 cm: / ऺॕोĀक ट॰क (मलकॏॠ ड) कॕ ोडजॊइन
पऻलॏओॠ म७, 40 ऺॕ 60 ऺॕमॎ ভॊ ऻख़नॎ चॊोऻए:

Capacity / ঴मतॊ

Detention period / अशधॊरण अशोध

Free board  / षॎहॊ४तर

Shape / आकॊर

Correct Answer :­Free board  / षॎहॊ४तर 

18)



Question Stimulus :­

Civil

The first watering before sowing the crop is called as: / फऺल बॏशॊई ऺॕ पऻलॕ डॊलॕ जॊनॕ शॊलॕ पऻलॕ पॊनॎ कख़ कऻॊ
जॊतॊ ऻॖ:

Kor­watering / कॕओआर­पॊनॎ

Root zone depth / जी ঴ॕআ कॎ गऻरॊई

Paleo / ঋॊथोमक

Crop ratio / फऺल कॊ अनॏपॊत

Correct Answer :­Paleo / ঋॊथोमक 

19)

Question Stimulus :­

Civil

The runaway speed of a turbine is:­ / एक टरबॊइन कॊ बॽत ऻॎ ऺऻज गोत ऻॖ: ­

The speed attained by the turbine under no load condition / ोबनॊ भॊर कॕ अधॎन टरबॊइन
ကॊरॊ ঋॊĀ गोत

The speed of the wheel when Governor fails / पोऻयॊ कॎ गोत जब गशन१र अऺफल ऻख़ जॊतॊ ऻॖ

The actual running speed at design load / ोडजॊइन भॊर पर शॊĀोशक पौरचॊलन कॎ गोत 

The synchronous speed of the generato / जनरॕटर कॎ तॏĀकॊोलक गोत 



Correct Answer :­The speed attained by the turbine under no load condition / ोबनॊ भॊर कॕ अधॎन टरबॊइन
ကॊरॊ ঋॊĀ गोत 

20)

Question Stimulus :­

Civil

Which type of hydraulic machine is widely used in docks for loading and unloading ships? / ोकऺ
ঋकॊर कॕ ऻॊइड३ ख़ोलक मषॎन कॊ इĀॕमॊल बॠदरगॊऻख़ ॠ म७ ကॊपक ॺप ऺॕ जऻॊजख़ ॠ म७ मॊल लदॊनॕ और उतरॊनॕ कॕ ोलए ोकयॊ जॊतॊ ऻॖ?

Hydraulic crane / ঈश­चॊोलत (ऻॊइड३ ख़ोलक) ॿॕन 

Hydraulic lift / ঈश­चॊोलत (ऻॊइड३ ख़ोलक) ोलĀ 

Hydraulic intensifier / ঈश­चॊोलत (ऻॊइड३ ख़ोलक) ঋकह१क

Hydraulic accumulator / ঈश­चॊोलत (ऻॊइड३ ख़ोलक)  ॠऺचॊयक

Correct Answer :­Hydraulic crane / ঈश­चॊोलत (ऻॊइड३ ख़ोलक) ॿॕन  

21)

Question Stimulus :­

Civil

Find the yield stress if a mild steel rod of 13 mm diameter with gauge length of 70 mm and yield
load of 5.5 ton. Assume: steel is tested for tensile strength / परॊभश ঋोतबल Āॊत कर७  योद 70 ोममॎ गॕज लॠबॊई
और 13 ोममॎ ကॊऺ शॊलॕ एक ऻĀॕ Āॎल रॗड  कॊ परॊभश भॊर 5.5 टन ऻ॰।मॊन लॎोजए ोक : Āॎल कॎ जॊँच तनन बल कॕ ोलए कॎ गई
थॎ 

0.05 T/sq.mm / 0.05 टॎ/शग१.ोमलॎमॎटर

0.04 T/sq.mm / 0.04 टॎ/शग१.ोमलॎमॎटर



0.04 T/sq.mm / 0.04 टॎ/शग१.ोमलॎमॎटर

0.03 T/sq.mm / 0.03 टॎ/शग१.ोमलॎमॎटर

0.02 T/sq.mm / 0.02 टॎ/शग१.ोमलॎमॎटर

Correct Answer :­0.04 T/sq.mm / 0.04 टॎ/शग१.ोमलॎमॎटर 

22)

Question Stimulus :­

Civil

_____________ are employed if the sewage contains grease and fatty oil which forms a scum in
sedimentation tanks. / _____________ कॊ इĀॕमॊल ोकयॊ ऻॖ, योद ऺॎशॕज म७ तॕल और शऺॊयॏঢ तॕल मग़जॐद रऻतॊ ऻॖ जख़
अशऺॊदन ट॰क म७ एक मॖल कॊ ोनमॊ१ण करतॊऻॖ।

Sedimentation /  अशऺॊदन

Chemical precipitation /  रॊऺॊयोनक शहॊ१

Grit settling / बजरॎ कॕ तलॎ म७ बॖठनॕ कॕ ोलए 

Skimming / फफॐॠ दन

Correct Answer :­Skimming / फफॐॠ दन 

23)

Question Stimulus :­

Civil

Given figure represent which type of joint: / ोदयॊ गयॊ ोचআ ोकऺ ঋकॊर कॕ जख़ी कॊ ঋोतोनोधက करतॊ ऻॖ:



Single V / एकल शॎ

Single U / एकल यॐ

Double V / दख़गॏनॊ शॎ

Double U / दख़गॏनॕ यॐ

Correct Answer :­Double V / दख़गॏनॊ शॎ 

24)

Question Stimulus :­

Civil

What is the relevant standard for mild steel plain bar type of reinforcement? / ऻĀॕ Āॎल ऺॊदॕ बॊर कॕ
ॏऺĀढॎकरण कॕ ोलए ঋॊ ॠऺोगक मॊनक ভॊ ऻॖ?

IS 1786 – 1979 / आईएऺ 1786 – 1979

IS 1566 – 1967 / आईएऺ 1566 – 1967

IS 226 – 1975 / आईएऺ 226 – 1975

IS 432 – 1996 / आईएऺ 432 – 1996

Correct Answer :­IS 432 – 1996 / आईएऺ 432 – 1996 



25)

Question Stimulus :­

Civil

Slate, laterite and kaolin are example of which type of stone?

ကॕट, लॕटरॊइट और चॎनॎ ोमĀॎ ोकऺ ঋकॊर कॕ चĀॊन कॊ उदॊऻरण ऻ॰?

Argillaceous rocks/ ोचकनॎ ोमĀॎ चĀॊन

Calcareous rocks / चॐनॕकॊर चĀॊन 

Siliceous rocks / ोऺोलकॊ चĀॊन

Igneous rocks / आ্ॕय चĀॊन

Correct Answer :­Argillaceous rocks/ ोचकनॎ ोमĀॎ चĀॊन 

26)

Question Stimulus :­

Civil

It is a metal connection employed in stone masonry construction. What is it?  / यऻ एक धॊतॏ कॊ  ॠऺयख़जन ऻॖ
ोजऺकॊ उपयख़ग पĀर कॎ ोचनॊई म७ ोकयॊ जॊतॊ ऻॖ। यऻ ভॊ ऻॖ?

Cornice / कॠ गनॎ (कॊरनॎऺ)

Bed joint / ঴ॖोतज  ॠऺोध

Corbal/ टख़डॊ



Cramp / ॠऺकॏ चन

Correct Answer :­Cramp / ॠऺकॏ चन 

27)

Question Stimulus :­

Civil

The ______________ of a body is that point through which the resultant of the system of parallel
forces formed by weights of all the particles of the body passes for all the position of the body. / एक
ोपॠड कॕ गॏॹကॊकह१ण कॊ क७ ঈ शऻ ोबॠदॏ ऻॖ ोक ोजऺकॕ मॊĀम ऺॕ ोपॠड कॕ ऺभॎ कणख़ॠ कॕ शजन ကॊरॊ गोठत ऺमॊनॊॠतर बलख़ ॠ कॎ  पौरणॊमॎ
ঋणॊलॎ ोपॠड कॕ ऺभॎ ्Āथोतयख़ ॠ ऺॕ ऻख़कर गॏजरतॊ ऻॖ।

Elongation / दॎघ५करण

Breaking point / ोशघॊत ोबॠदॏ 

Yield point / परॊभश ोबॠदॏ

Centre of gravity / गॏॹကॊकह१ण कॊ क७ ঈ

Correct Answer :­Centre of gravity / गॏॹကॊकह१ण कॊ क७ ঈ 

28)

Question Stimulus :­

Civil

 The flood discharge in cumecs is given by Q = CA3/4 , the given formula is called as: / ভॐमॕস म७ बॊु
कॕ पॊनॎ कॕ ঋशॊऻ कख़ ভॐ ကॊरॊ ोदयॊ गयॊ ऻॖ = ऺॎए 3/4, तब ोदयॊ गयॊ  ॐऺআ कऻलॊतॊ ऻॖ:

Fanning’s formula / मॖोनॠग कॕ  ॐऺআ



Inglis formula / इॠगोलष  ॐऺআ

Ryve’s formula / रशॕऺ कॊ  ॐऺআ 

Dicken’s formula / डॎकॕन कॊ  ॐऺআ

Correct Answer :­Dicken’s formula / डॎकॕन कॊ  ॐऺআ 

29)

Question Stimulus :­

Civil

 ________________is application of chlorine beyond the stage of break point upto 2 ppm.
/ _______________ 2 पॎपॎएम कॕ ঍ॕक Āॊइॠट ऺॕ परॕ মख़रॎन कॊ अनॏঋयख़ग ोकयॊ जॊतॊ ऻॖ।

Super chlorination  /  ॏऺपर মख़रॎनॎकरण

Break point chlorination / ঍ॕकĀॊइॠट মख़रॎनॎकरण

Double chlorination / दख़ऻरॎ মख़रॎनॎकरण

Plain chlorination / ऺॊदॊ মख़रॎनॎकरण

Correct Answer :­Super chlorination  /  ॏऺपर মख़रॎनॎकरण 

30)

Question Stimulus :­

The bond strength between steel and concrete is due to:­ / इĀॊत और कॠ ॿॎट कॕ बॎच बॠधन कॎ ष्ঢ कॊ कॊरण
ভॊ ऻॖ: ­

Friction / घह१ण



Friction / घह१ण

Adhesion / आ ॠऺजन

Both of the above /उपरख़ঢ दख़नख़ ॠ

None of the above  / उपरख़ঢ म७ ऺॕ कख़ई भॎ नऻॎ ॠ

Correct Answer :­Both of the above /उपरख़ঢ दख़नख़ ॠ 

31)

Question Stimulus :­

Civil

 Which test is used to measure the resistance to the passage of light through the water? / ोकऺ
परॎ঴ण कॊ उपयख़ग कॕ पॊनॎ ऺॕ ऻख़कर ঋकॊष कॕ गॏजरनॕ पर उĀĀ ऻख़नॕ शॊलॕ ঋोतरख़ध कख़ मॊपनॕ कॕ ोलए ोकयॊ जॊतॊ ऻॖ?

Turbidity test / आोशलतॊ परॎ঴ण

Temperature test / तॊपमॊन परॎ঴ण

Colour test / रॠग परॎ঴ण

Permissible test / Āॎकॊय१ परॎ঴ण

Correct Answer :­Turbidity test / आोशलतॊ परॎ঴ण 

32)

Question Stimulus :­

Civil



Given figure represents which type of stair plan / ोदयॊ गयॊ यऻ आॠकीॊ ोकऺ ঋकॊर कॊ ऺॎुॎ यख़जनॊ कॊ अोभကঢ
करतॊ ऻॖ:

Plan of a four flight stair / एक चॊर Āॊइट शॊलॕन ऺॎुॎ कॎ यख़जनॊ

Plan of a geometrical stair none / एक Āॊोमतॎय ऺॎुॎ कॎ यख़जनॊ

Bifurcated stair / ोကभॊोजत ऺॎुॎ

Plan of segmental stair / खॠडॎय ऺॎुॎ कॎ यख़जनॊ

Correct Answer :­Plan of a four flight stair / एक चॊर Āॊइट शॊलॕन ऺॎुॎ कॎ यख़जनॊ 

33)

Question Stimulus :­

Civil

The top of the ground on which the foundation of the road rests is called as: / भॐोम कॕ ऊपरॎ भॊग ोजऺ पर
ऺीक कॊ आधॊर ोटकॊ ॽआ उऺॕ कऻॊ जॊतॊ ऻॖ:

Soil – sub grade  / ोमĀॎ – उप­ঁॕड

Sub – base course / उप ­ आधॊर ॿम

Wearing course / ऺीक कॎ उपरॎ परत



Base course / आधॊर ॿम

Correct Answer :­Soil – sub grade  / ोमĀॎ – उप­ঁॕड 

34)

Question Stimulus :­

Civil

____________ sometime become septic due to overloading or unfavorable cloudy season. / अोधक
भॊर यॊ ঋोतकॐ ल मॕघॊৢॊोदत मग़ऺम कॕ कॊरण ____________ कॏ छ ऺमय कॕ ोलए ऺॕोĀक (ोशहॊঢ) ऻख़ जॊतॊ ऻॖ।

Refuse / अशोषĀ

Sewage / मल

Sullage / कॐ ीॊ

Oxidation pond / ऑসॎकरण तॊलॊब

Correct Answer :­Oxidation pond / ऑসॎकरण तॊलॊब 

35)

Question Stimulus :­

Civil

 In which type of soils more than half the total material by weight is larger than 75 micron IS sieve
size? / ोकऺ ঋकॊर कॕ म॑दॊ म७ शजन ऺॕ कॏ ल ऺॊमঁॎ कॕ आधॕ ऺॕ अोधक 75 मॊइॿख़न चलनॎ कॕ आकॊर ऺॕ बीॊ ऻख़तॊ ऻॖ

Coarse grained soils  / Āथॐल कणख़ॠ शॊलॎ ोमĀॎ

Fine grained soils /  ॐऺ঵ कणख़ॠ शॊलॎ ोमĀॎ
Highly organic soils \ उৡ कॊब१ोनक ोमĀॎ



Highly organic soils \ उৡ कॊब१ोनक ोमĀॎ

Silts soils / तलछट कॎ ोमĀॎ

Correct Answer :­Coarse grained soils  / Āथॐल कणख़ॠ शॊलॎ ोमĀॎ 

36)

Question Stimulus :­

Civil

What is the recommended camber for bituminous type of road? / ोबटॏोमनऺ ঋकॊर कॕ ऺीक कॕ ोलए ोकऺ ঋकॊर
कॕ शॿतॊ कॎ अनॏषॠऺॊ कॎ गई ऻॖ?

1 in 48 to 1 in 60 / 1 म७ 48 ऺॕ 1 म७ 60

1 in 20 to 1 in 24 / 1 म७ 20 ऺॕ 1 म७ 24

1 in 24 to 1 in 30 / 1 म७ 24 ऺॕ 1 म७ 30

1 in 30 to 1 in 48 / 1 म७ 30 ऺॕ 1 म७ 48

Correct Answer :­1 in 48 to 1 in 60 / 1 म७ 48 ऺॕ 1 म७ 60 

37)

Question Stimulus :­

Civil

Which types of errors occur in one direction only and go on accumulating in chaining? / ोकऺ ঋकॊर कॎ
আॏोट कॕशल एक ऻॎ ोदषॊ म७ ऻख़तॎ ऻॖ और ঒॑ॠखलन म७ जमॊ ऻख़तॎ जॊतॎ ऻॖ? 

Cumulative  errors /  ॠऺचयॎ আॏोटयॊँ 
Compensating errors / ঴ोतपॐरक আॏोटयॊँ 



Compensating errors / ঴ोतपॐरक আॏोटयॊँ 

Personal errors / က्ঢगत আॏोटयॊँ 

Natural errors / ঋॊक॑ोतक আॏोटयॊँ

Correct Answer :­Cumulative  errors /  ॠऺचयॎ আॏोटयॊँ  

38)

Question Stimulus :­

Civil

Following figure represents which type of shear reinforcement: / ोनĀोल्खत ोचআ ोकऺ ঋकॊर कॕ अपॺपण
ॏऺĀढॎकरण कॊ ঋोतोनोधက करतॊ ऻॖ:

Inclined strirrups / झॏकॊ कॏॠ डॊ

Bent up bars alongwith strirrups / कॏॠ डॊ कॕ ऺॊथ मॏीॎ ऺलॊख७ 

Vertical strirrups / ऊĀॊ१धर कॏॠ डॊ

Horizontal strirrups / ঴ॖोतज कॏॠ डॊ

Correct Answer :­Inclined strirrups / झॏकॊ कॏॠ डॊ 



39)

Question Stimulus :­

Civil

_____________ is the result from lifting of warm moisture laden air masses due to topographic
barriers. / _____________ Āथलॊक॑ोतक बॊधॊओॠ कॕ कॊरण गम१ नमॎ लदॕ ऻशॊ कॕ ঈကमॊन कॕ उठनॕ कॕ पौरणॊमĀॺप ऻख़तॎ ऻॖ।

Convective precipitation /  ॠऺशऻनॎ शहॊ१

Orographic precipitation / पश१तॎय शहॊ१

Cyclonic precipitation / चॿशॊतॎ शहॊ१

Hydrography precipitation / जलॊरॕख शहॊ१

Correct Answer :­Orographic precipitation / पश१तॎय शहॊ१ 

40)

Question Stimulus :­

Civil

Which term is defined as the depression or gutter formed by the inter section of two slopes in a
pitched rafters? / एक खीॕ षऻतॎर म७ दख़ ढलॊनख़ ॠ कॕ ঋोतৢॕदन ကॊरॊ ोनोम१त गĀ७ यॊ गटर  कख़ ोकऺ षĀ कॕ ॺप म७ पौरभॊोहत
ोकयॊ गयॊ ऻॖ?

Hip / कमर

Eves / कॠ गनॎ

Purlins / षऻतॎर



Valley / घॊटॎ

Correct Answer :­Valley / घॊटॎ 

41)

Question Stimulus :­

Civil

A beam fixed at one end and free at the other end is known as: / एक छख़र पर Āथॊोपत और दॐ ऺरॕ छख़र पर मॏঢ
धरनॎ (बॎम) कख़ ोकऺ ॺप म७ जॊनॊ जॊतॊ ऻॖ:

Fixed beam / ्Āथर धरनॎ

Continous beam / ोनरॠतर धरनॎ

Cantilever beam / भॏजख़Āख़लक धरनॎ

Overhanging beam / ঋल्Āत धरनॎ

Correct Answer :­Cantilever beam / भॏजख़Āख़लक धरनॎ 

42)

Question Stimulus :­

Civil

The operation measuring distance with the help of a tape is called as: / एक टॕप कॎ ऺऻॊयतॊ ऺॕ ঋचॊलन कॎ
दॐ रॎ मॊपनॕ कख़ ভॊ कऻॊ जॊतॊ ऻॖ:

Indirect ranging / परख़঴ ॿम ऺॕ रखनॊ

Direct ranging / ঋĀ঴ ॿम ऺॕ रखनॊ



Chaining / ঒॑ॠखलन

Offsetting / पॐरॊ करनॊ

Correct Answer :­Chaining / ঒॑ॠखलन 

43)

Question Stimulus :­

Civil

The forces whose lines of action lie on the same plane are known as: / शऻ बल ोजऺकॕ कॊय१ कॎ रॕखॊएॠ  एक ऻॎ
तल अश्Āथत ऻख़तॎ ऻॖ, उऺॕ जॊनॊ जॊतॊ ऻॖ:

Concurrent forces / ऺमशत५ बल

Coplaner forces / ऺमतलॎय बल

Coplaner concurrent forces / ऺमतलॎय ऺमशत५ बल

Coplaner non concurrent forces / ऺमतलॎय गॖर­ऺमशत५ बल

Correct Answer :­Coplaner forces / ऺमतलॎय बल 

44)

Question Stimulus :­

Civil

When two or more footings are connected by a beam, it is called as: / दख़ यॊ दख़ ऺॕ अोधक आधॊर एक धरनॎ ऺॕ
जॏीतॊ ऻ॰, तख़ इऺॕ कऻॊ जॊतॊ ऻॖ:

Strap footing / पĀॊ आधॊर



Spread footing / ोशĀ॑त आधॊर

Combined footing /  ॠऺयॏঢ आधॊर

Raft footing / बॕीॊ आधॊर

Correct Answer :­Strap footing / पĀॊ आधॊर 

45)

Question Stimulus :­

CANCELLED

Civil

 Given symbol indicate which type of operation in Building Drawing: / ोदयॊ गयॊ ঋतॎक भशन कॕ आरॕखन म७
ोकऺ ঋकॊर कॕ  ॠऺचॊलन कॊ  ॠऺकॕत करतॊ ऻॖ:

Fan regulator / पॠखॊ ोनयॊमक

Batten lamp holder / दॎपक धॊरक पटरॊ

Light pendent / ऻĀॊ ोनलĀॎ

Light bracket / ऻĀॊ ঍ॖकॕट

Correct Answer :­Light bracket / ऻĀॊ ঍ॖकॕट 

46)

Question Stimulus :­

Civil



What is defined as the maximum displacement of a body from the mean position? / मॊĀ ्Āथोत ऺॕ ोकऺ
ोपॠड कॕ अोधकतम ोशĀथॊपन कख़ कॖऺॕ पौरभॊोहत ोकयॊ जॊतॊ ऻॖ?

Periodic time / आशोधक ऺमय

Angular acceleration / कख़णॎय ကरण

Amplitude / आयॊम

Centripetal accerleration / कॕကॊोभमॏख ကरण

Correct Answer :­Amplitude / आयॊम 

47)

Question Stimulus :­

Civil

In a sewage treatment what is chlorinated and then disposed off from the secondary settling tank?
/ ऺॎशॕज उपचॊर म७, ोकऺॕ মख़रॎनयॏঢ करनॕ कॕ बॊद मॊĀोमक ोनपटॊन कॕ ट॰क कॕ मॊĀम ऺॕ ोनपटॊरॊ ोकयॊ जॊतॊ ऻॖ?

Effluent / बोऻॡĀॊशॎ

Flocs / Āख़क

Sludge / कॎची

Grit / बजरॎ

Correct Answer :­Effluent / बोऻॡĀॊशॎ 

48)



Question Stimulus :­

Civil

A flow in which the quantity of liquid flowing per second is NOT constant is called as: / एक ঋशॊऻ ोजऺम७
ঋोत ऺॕकॠ ड ঋशॊोऻत ऻख़नॕ शॊलॕ तरल पदॊथ१ कॎ मॊআॊ ्Āथर नऻॎ ॠ रऻॕतॎ ऻ॰, उऺॕ कऻॊ जॊतॊ ऻॖ:

Unsteady flow / अ्Āथर ঋशॊऻ

Steady flow / ोनरॠतर ঋशॊऻ

Turbulent flow / अषॊॠत ঋशॊऻ

Compressible flow /  ॠऺपॎĀ ঋशॊऻ

Correct Answer :­Unsteady flow / अ्Āथर ঋशॊऻ 

49)

Question Stimulus :­

Civil

 

The estimated value of a built up property at the end of its useful life without being dismantled is
known as: / एक ोनोम१त  ॠऺपोĀ कख़ ोबनॊ ĀĀ ोकए ॽए इऺकॕ उपयख़गॎ जॎशन कॕ अॠत म७ इऺकॕ अनॏमॊोनत मॐĀ  कख़ ोकऺ ॺप म७
जॊनॊ जॊतॊ ऻॖ

Salvage value  / ोनĀॊरण मॐĀ

Scrap value / अशोषĀ मॐĀ

Deprication / मॐĀকॊऺ

Floor area ratio / फष१ कॕ ঴ॕআफल कॊ अनॏपॊत



Floor area ratio / फष१ कॕ ঴ॕআफल कॊ अनॏपॊत

Correct Answer :­Salvage value  / ोनĀॊरण मॐĀ 

50)

Question Stimulus :­

Civil

 Co­efficient of friction is the ratio of:­

घह१ण कॕ गॏणॊॠक कॊ अनॏपॊत ऻॖ:­

Force of friction to normal reaction between two bodies / दख़ ोपॠडख़ ॠ कॕ बॎच ऺॊमॊက ঋोतोॿयॊ
कॕ ोलए घह१ण बल

Force of limiting friction to reaction between two bodies / दख़ ोपॠडख़ ॠ कॕ बॎच ঋोतोॿयॊ कॕ ोलए
ऺॎोमत घह१ण बल

Force of friction to reaction between two bodies / दख़ ोपॠडख़ ॠ कॕ बॎच ঋोतोॿयॊ कॕ ोलए घह१ण बल

Force of limiting friction to normal reaction between two bodies / दख़ ोपॠडख़ ॠ कॕ बॎच ऺॊमॊက
ঋोतोॿयॊ कॕ ोलए घह१ण कख़ ऺॎोमत करनॕ कॊ बल

Correct Answer :­Force of limiting friction to normal reaction between two bodies / दख़ ोपॠडख़ ॠ कॕ बॎच
ऺॊमॊက ঋोतोॿयॊ कॕ ोलए घह१ण कख़ ऺॎोमत करनॕ कॊ बल 



51)

Question Stimulus :­

Civil

Porosity of soil mass is mathematically represented by which of the equation? / म॑दॊ कॕ ঈကमॊन कॎ
ऺरॠউतॊ कख़ ोकऺ गोणतॎय ऺमॎकरण ကॊरॊ अोभကঢ ोकयॊ जॊतॊ ऻॖ?

e = Vv / Vs

n = Vv / V

s = Vv / Vs

na = Va/ V × 100

Correct Answer :­n = Vv / V 

52)

Question Stimulus :­

Civil

In which stage the mild steel material behaves as per the hooke's law? / ोकऺ अशĀथॊ म७ नरम Āॎल कॎ
ऺॊमঁॎ ॾक कॕ ोनयम कॕ अनॏऺॊर ကशऻॊर करतॎ ऻॖ?

Elastic limit  / ঋĀॊĀथ ऺॎमॊ

Yield point / परॊभश ोबॠदॏ

Limit of proportionality / ऺमॊनतॊ (अनॏॺपतॊ) कॎ ऺॎमॊ



Ultimate load point / परम भॊर ोबॠदॏ

Correct Answer :­Limit of proportionality / ऺमॊनतॊ (अनॏॺपतॊ) कॎ ऺॎमॊ 

53)

Question Stimulus :­

Civil

________ is a beam that supports the brick work over opening of door, window and passage.
/ ________ एक धरनॎ ऻॖ जख़ दरशॊजॊ, ्खीकॎ और गोलयॊरॕ कॕ ऊपर खॏलनॕ शॊलॕ Āथॊन पर ईॠट कॕ ोचनॊई कॊ ऺमथ१न करतॊ ऻ॰।

Beam / धरनॎ

Roof / छत

Lintel / ोऺरदल पĀॊ

Plinth / कॏ ऺ५

Correct Answer :­Lintel / ोऺरदल पĀॊ 

54)

Question Stimulus :­

Civil

The ratio of inertia force to the viscous force is known as: / जीကॎय बल ऺॕ Āॊनतॊ बल कॕ अनॏपॊत कख़ ोकऺ ॺप
म७ जॊनॊ जॊतॊ ऻॖ:

Froudes number / ঌॗड कॎ  ॠऺূॊ

Reynolds number / रॕनॗĀ्ऺ  ॠऺূॊ



Webers number / शॕबर कॎ  ॠऺূॊ

Eulers number / यॐलर  ॠऺূॊ

Correct Answer :­Reynolds number / रॕनॗĀ्ऺ  ॠऺূॊ 

55)

Question Stimulus :­

Civil

The defects caused by severe frost or by severe heat of the sun is known as: / गॠभॎर पॊलॊ ऺॕ यॊ  ॐऺय१ कॎ
ঋचॠड गम५ कॕ कॊरण उĀĀ गॠभॎर दख़हख़ ॠ कख़ ভॊ कऻॊ जॊतॊ ऻॖ:

Ring shake / ौरॠग कॠ पकॠ पॎ

Cup shake / कप कॠ पकॠ पॎ

Heart shake / ोदल कॎ कॠ पकॠ पॎ

Star shake / ोऺतॊरख़ ॠ कॎ कॠ पकॠ पॎ

Correct Answer :­Star shake / ोऺतॊरख़ ॠ कॎ कॠ पकॠ पॎ 

56)

Question Stimulus :­

Civil

Which types of sheets are used for roof covering? / ोकऺ ঋकॊर चॊदरख़ ॠ कॊ उपयख़ग छत कख़ कशर करनॕ कॕ ोलए ोकयॊ
जॊतॊ ऻ॰?

Corrugated sheets / नॊलॎदॊर चॊदरख़ ॠ



Plates / ကॕट

I­sections / आई­अनॏभॊग

Ribbed tor steel bars / धॊरॎदॊर कॐ ट इĀॊत कॊ ऺलॊख 

Correct Answer :­Corrugated sheets / नॊलॎदॊर चॊदरख़ ॠ 

57)

Question Stimulus :­

Civil

What is used to find the moment of inertia of a body experimentally? / ঋॊयग़ोगक ॺप ऺॕ ोकऺॎ ोपॠड कॊ जीက
आघॐण१ Āॊत करनॕ कॕ ोलए ोकऺकॊ उपयख़ग ोकयॊ जॊतॊ ऻॖ?

Centre of pendulum / लख़लक कॕ क७ ঈ

Torsional pendulum / मरख़ीॎ लख़लक

Compound pendulum / यग़ोगक लख़लक

Simple pendulum / ऺरल लख़लक

Correct Answer :­Torsional pendulum / मरख़ीॎ लख़लक 

58)

Question Stimulus :­

CANCELLED

Civil



In which type of concrete there is absence of capillary passages and there is no transmission of
water by capillary action: / ोकऺ ঋकॊर कॕ कॠ ॿॎट म७ कॕोषकॎय मॊग१ अनॏप्Āथत रऻतॊ ऻॖ और कॕोषकॎय बल कॕ कॊरण पॊनॎ कॊ
कख़ई  ॠऺचरण नऻॎ ॠ ऻख़तॊ ऻॖ: 

No fines concrete / कख़ई बॕऻतर कॠ ॿॎट नऻॎ ॠ 

Pre cast concrete / पऻलॕ ऺॕ तॖयॊर कॠ ॿॎट

Light weight concrete / ऻĀॊ कॠ ॿॎट

Pre stressed concrete / पॐश१­ बलॊघॊोतत कॠ ॿॎट

Correct Answer :­No fines concrete / कख़ई बॕऻतर कॠ ॿॎट नऻॎ ॠ  

59)

Question Stimulus :­

Civil

A ______________ is a machine which converts the kinetic energy of the water into pressure
energy before the water leaves its casing. /  ______________ एक मषॎन ऻॖ जख़ पॊनॎ कॎ गोतज ऊजॊ१ कख़ दबॊश
ऊजॊ१ म७ पौरणत कर दॕतॊ ऻॖ, इऺऺॕ पऻलॕ ोक पॊनॎ इऺकॕ आशरण कख़ छख़ी दॕ। 

Reciporcating pump / ঋĀॊगॊमॎ पॠप

Draft tube / मरग़दॊ नलॎ

Centrifugal pump / कॕကॊपऺॊरक पĀ

Cavitation / कख़टरन

Correct Answer :­Centrifugal pump / कॕကॊपऺॊरक पĀ 



60)

Question Stimulus :­

Civil

What is indicated by valve 6 of rapid sand filter? / तॕजॎ ऺॕ रॕत ोफĀर कॊ शॊĀ 6 नॕ ভॊ  ॠऺकॕत दॕतॊ ऻॖ?

Wash water storage tank valve /धख़नॕ कॕ पॊनॎ कॕ भॠडॊरण ट॰क शॊĀ

Inlet valve / ঋशॕष ကॊर कॊ कपॊट (इनलॕट शॊĀ)

Filtered water storage tank valve / छोनत पॊनॎ कॕ भॠडॊरण ट॰क कॊ ကॊर 

Compressed air valve /  ॠऺपॎोीत ऻशॊ कॊ ကॊर (शॊĀ)

Correct Answer :­Wash water storage tank valve /धख़नॕ कॕ पॊनॎ कॕ भॠडॊरण ट॰क शॊĀ 

61)

Question Stimulus :­

Civil

The time required for full dissipation of pore water pressure will depend on: / रॠউ ऺॕ पॊनॎ कॕ दबॊश कॕ पॐण१
ॺप ऺॕ ोनऺ॑त ऻख़नॕ कॕ ोलए आशĀक ऺमय ोकऺ पर ोनभ१र करतॊ ऻॖ?

Thickness of soil sample only / कॕशल ोमĀॎ कॕ नमॐनॕ कॎ मख़टॊई

Co­efficient of permeability of soil only / कॕशल ोमĀॎ कॕ पॊरगĀतॊ गॏणॊॠक

Both of the above / उपरख़ঢ दख़नख़ ॠ 

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ 



Correct Answer :­Both of the above / उपरख़ঢ दख़नख़ ॠ  

62)

Question Stimulus :­

Civil

The self­weight of the structure along with all the super imposed loads permanently attached to the
structure is called as: /  ॠऺरचनॊ कॕ Ā­भॊर कॕ ऺॊथ­ऺॊथ Āथॊयॎ ॺप ऺॕ  ॠऺरचनॊ कॕ  ॠऺल্ ऺभॎ आरख़ोपत भॊर कख़ ভॊ कऻॊ
जॊतॊ ऻॖ:

Bearing stress / धॊरण करनॕ शॊलॊ ঋोतबल

Dead load  / ĀĀ भॊर

Live load / ऺोॿय भॊर

Working stress / कॊय१कॊरॎ ঋोतबल

Correct Answer :­Dead load  / ĀĀ भॊर 

63)

Question Stimulus :­

Civil

The capacity of soil to resist shearing stresses is known as: / अपॺपण ঋोतबल कॊ ोशरख़ध करनॕ कॕ ोलए ोमĀॎ कॎ
঴मतॊ कख़ ভॊ कऻतॕ ऻॖ:

Consolidation and swelling / एकॎकरण और फॏ लॊश

Compressibility /  ॠऺपॎडयतॊ

Cohesion and Thixotrophy / ऺॊमॠजĀ और कॠ पॊनॏशोत१तॊ



Cohesion and Thixotrophy / ऺॊमॠजĀ और कॠ पॊनॏशोत१तॊ

Plasticity /  ॏऺघĀतॊ

Correct Answer :­Cohesion and Thixotrophy / ऺॊमॠजĀ और कॠ पॊनॏशोत१तॊ 

64)

Question Stimulus :­

Civil

 Find the floor area ratio of building with total plinth area 565.70 m2 /  कॏ ल कॏ ऺ५ ঴ॕআफल 565.70 m2 शॊलॕ एक भशन
कॕ फष१ कॊ ঴ॕআफल कॊ अनॏपॊत Āॊत कर७

Given: plot area = 35 m × 45 m. / ोदयॊ गयॊ ऻॖ: भॐखॠड कॊ ঴ॕআफल = 35 एम × 45 एम

0.359

0.360

0.361

0.362

Correct Answer :­0.359 

65)

Question Stimulus :­

Civil

The rise given to the centre way with reference to its edge is called as: / इऺकॕ ोकनॊरॕ कॕ  ॠऺदभ१ म७ क७ ঈ म७
ोदए गए उभॊर कख़ ভॊ कऻॊ जॊतॊ ऻॖ:

Shoulder width / आधॊर कॎ चग़ीॊई



Shoulder width / आधॊर कॎ चग़ीॊई

Camber / शॿतॊ

Carriage way / मॊलशॊऻक मॊग१

Road way width / ऺीक कॕ मॊग१ कॎ चग़ीॊई

Correct Answer :­Camber / शॿतॊ 

66)

Question Stimulus :­

Civil

Which type of gradient is normally adopted in the design or roads? / ऺीकख़ॠ कॕ ोनमॊ१ण म७ ऺॊमॊက ॺप ऺॕ ोकऺ
ঋकॊर कॕ ढॊल कॊ उपयख़ग ोकयॊ जॊतॊ ऻॖ?

Exception gradient / ोशोषĀ ढॊल

Floating gradient / तॖरनॕ शॊलॕ ढॊल

Average gradient  / औऺत ढॊल

Ruling gradient  / ঋधॊन ढॊल

Correct Answer :­Ruling gradient  / ঋधॊन ढॊल 

67)

Question Stimulus :­

Civil

What is grain size of cobble soil particle? / पथरॎलॎ ोमĀॎ कॕ कणख़ॠ म७ रशॊ (अणॏ) कॊ आकॊर ोकतनॊ ऻख़तॊ ऻॖ?



What is grain size of cobble soil particle? / पथरॎलॎ ोमĀॎ कॕ कणख़ॠ म७ रशॊ (अणॏ) कॊ आकॊर ोकतनॊ ऻख़तॊ ऻॖ?

20 mm to 300 mm / 300 ोममॎ ऺॕ 20 ोममॎ

4.75 mm to 20 mm / 20 ोममॎ ऺॕ 4.75 ोममॎ

4.75 mm to 80 mm / 80 ोममॎ ऺॕ 4.75 ोममॎ

80 mm to 300 mm / 300 ोममॎ ऺॕ 80 ोममॎ

Correct Answer :­80 mm to 300 mm / 300 ोममॎ ऺॕ 80 ोममॎ 

68)

Question Stimulus :­

Civil

How correction for sag is given by: / ोषोथलतॊ कॕ ोलए  ॏऺधॊर ोकऺकॕ ကॊरॊ ोदयॊ जॊतॊ ऻॖ:

Ca = L × c / l

Ct = α (Tm – To) L

Cv = h2 / 2l

Cs = w2L2 / 24 P2

Correct Answer :­Cs = w2L2 / 24 P2 

69)

Question Stimulus :­



Civil

A beam supporting wall directly over door or windows is called as: / दरशॊिॕ यॊ ्खीोकयख़ ॠ कॕ ऊपर दॎशॊर कख़
ऺऻॊरॊ दॕनॕ शॊलॕ धरणॎ कख़ ভॊ कऻॊ जॊतॊ ऻॖ:

Lintel / ऺरदल

Girder / षऻतॎर

Joist / धरन

Trimmer / ऺमॊकोत१আ

Correct Answer :­Lintel / ऺरदल 

70)

Question Stimulus :­

Civil

Find the intensity of stress if a steel rod of 26.9 mm diameter and 4.5 m long is subjected to an
axial pull of 55 KN: / तनॊश कॎ तॎ঑तॊ Āॊत कर७ , योद 26.9 ोममॎ ကॊऺ और 4.5 मॎटर लॠबॊ एक Āॎल कॊ रॗड 55 कॕएन कॕ
एक अ঴ॎय खॎ ॠचॊश  कॕ अधॎन ऻॖ:

96.77N/mm2 / 96.77N/ ोमलॎमॎटर 2

97.77N/mm2 / 97.77N/ ोमलॎमॎटर 2

98.77N/mm2 / 98.77N/ ोमलॎमॎटर 2

99.77N/mm2 / 99.77N/ ोमलॎमॎटर 2

Correct Answer :­96.77N/mm2 / 96.77N/ ोमलॎमॎटर 2 



71)

Question Stimulus :­

Civil

What area of a building is the total area of floor in between walls? / एक भशन कॎ दॎशॊरख़ ॠ कॕ बॎच म७ ोकतनॊ
঴ॕআ फष१ कॊ कॏ ल ঴ॕআफल ऻॖ?

Floor area / फष१ कॊ ঴ॕআफल

Plinth area / कॏ ऺ५ कॊ ঴ॕআफल

Carpet area / फष१ ঴ॕআ

Circulation area /  ॠऺचरण ঴ॕআ

Correct Answer :­Floor area / फष१ कॊ ঴ॕআफल 

72)

Question Stimulus :­

Civil

It is the product of elastic stress and the area of a flowing liquid: / यऻ ঋĀॊĀथ तनॊश और ঋशॊोऻत तरल कॕ ঴ॕআ
कॊ उĀॊद ऻॖ:

Pressure force / दबॊश बल

Elastic force  / लख़चदॊर बल

Gravity force / गॏॹကॊकह१ण बल



Viscous force / Āॊनतॊ बल

Correct Answer :­Elastic force  / लख़चदॊर बल 

73)

Question Stimulus :­

CANCELLED

Civil

Which type of piles are driven at an inclination to resist large horizontal or inclined force? / ोशषॊल
঴ॖोतज यॊ नत बल कॊ ोशरख़ध करनॕ कॕ ोलए ोकऺ ঋकॊर कॕ ढॕर कॊ  ॠऺचॊलन झॏकॊश पर ोकयॊ जॊतॊ ऻ॰?

Compaction piles /  ॠऺघनन ढॕर

Batter piles / लपऺॎ कॊ ढॕर

Fender piles / आघॊत ऺॕ बचॊश कॕ ोलए ढॕर

Sheet piles / चॊदर कॊ ढॕर

Correct Answer :­Batter piles / लपऺॎ कॊ ढॕर 

74)

Question Stimulus :­

Civil

The compression flange should be prevented from__________. /  ॠऺपॎोीत ोकनॊरॕ कख़__________ ऻख़नॕ ऺॕ
रख़कॊ जॊनॊ चॊोऻए।

buckling / आकॏॠ ोचत



bearing stress / ोबयौरॠग तनॊश

Deflection / ोश঴ॕप

bending momeny / बॠकन आघॐण१

Correct Answer :­buckling / आकॏॠ ोचत 

75)

Question Stimulus :­

Civil

A horizontal layer of bricks or stones is termed as a _______. / ईॠट यॊ पĀर कॊ एक ঴ॖोतज परत कख़
_______ कऻॊ जॊतॊ ऻॖ।

Course / पॊठयॿम

Header / षॎह१क

Stretcher / Ā३ॕचर

Bed / ोबĀर

Correct Answer :­Course / पॊठयॿम 

76)

Question Stimulus :­

Civil

The perpendicular or the oblique distance of the object from the survey line is called as: / ऺश८঴ण रॕखॊ
ऺॕ शĀॏ कॎ  ोतय१क यॊ लॠबशत दॐ रॎ कख़ ভॊ कऻॊ जॊतॊ ऻॖ:



Tie line / बĀक रॕखॊ

Base line / आधॊर रॕखॊ

Check line / जॊँच रॕखॊ

Offset / ऺमॠजन

Correct Answer :­Offset / ऺमॠजन 

77)

Question Stimulus :­

Civil

What is defined as the ratio of ultimate tensile stress to the working or permissible stress?
/ कॊय१कॊरॎ यॊ अनॏमက तनॊश ऺॕ परम तကतॊ तनॊश कॕ अनॏपॊत कॕ ॺप म७ ोकऺॕ पौरभॊोहत ोकयॊ गयॊ ऻॖ ?

Bulk modulus  / आयतन ঋĀॊĀथतॊ गॏणॊॠक

Modulus of rigidity  / कठख़रतॊ कॕ मॊपॊॠक

Shear modulus  / अपॺपण मॊपॊॠक

Factor of safety /  ॏऺर঴ॊ गॏणक

Correct Answer :­Factor of safety /  ॏऺर঴ॊ गॏणक 

78)

Question Stimulus :­

Civil



Which valve is installed on the delivery side of the pumping set in order to prevent the back flow
when the pump is stopped? / पॠप कख़ बॠद करनॕ पर पॊनॎ कॎ शॊपऺ लग़ट कर आनॕ शॊलॕ ঋशॊऻ कख़ रख़कनॕ कॕ ोलए कग़न ऺॊ शॊĀ
पॠप ऺॕट कॊ ोशतरण प঴ कॎ ओर Āथॊोपत ोकयॊ जॊतॊ ऻॖ?

Sluice valve / ကॐऺ शॊĀ 

Blow off valve / Āख़ ऑफ शॊĀ 

Check valve / चॕक शॊĀ 

Pressure relief valve / ঋॕषर ौरलॎफ शॊĀ

Correct Answer :­Check valve / चॕक शॊĀ  

79)

Question Stimulus :­

Civil

Find the area of footing if to design a rectangular footing of uniform thickness for an axially loaded
column of size 300 mm × 600 mm. / 600 ोममॎ × 300 ोममॎ अ঴ॎय ॺप ऺॕ भरॕ ॽए Āॠभ कॕ ोलए ऺमॊन मख़टॊई कॕ एक
आयतॊकॊर आधॊर कॊ ोनमॊ१ण करनॕ कॕ ोलए आधॊर ঴ॕআ Āॊत कर७।

Given wc + wf = 1300 kN / ोदयॊ गयॊ ऻॖ ोक wc + wf = 1300 कॕएन

qu = 150 kN/m2 / qu = 150 कॕएन/मॎ2

8.66 m2 / 8.66 मॎ2

8.77 m2  / 8.77 मॎ2

8.99 m2  / 8.99 मॎ2



8.88 m2 / 8.88 मॎ2

Correct Answer :­8.66 m2 / 8.66 मॎ2 

80)

Question Stimulus :­

Civil

Which survey is used for fixing boundaries of fields? / कग़न­ऺॊ  ऺश८঴ण खॕतख़ ॠ कॎ ऺॎमॊओॠ कॕ ोनधॊ१रण कॕ ोलए ोकयॊ
जॊतॊ ऻॖ?

Cadastral surveys / जमॊबĀॎ ऺश८঴ण

Topographical surveys / Āथलॊक॑ोतक ऺश८঴ण

City surveys / षऻर कॊ ऺश८঴ण

Engineering surveys / अोभयॊ्Āकॎ ऺश८঴ण

Correct Answer :­Cadastral surveys / जमॊबĀॎ ऺश८঴ण 

81)

Question Stimulus :­

CANCELLED

Civil

In which type of bond all the bricks are laid as towards the face of the wall? / ऺभॎ ईॠटख़ कॕ दॎशॊर कख़ चॕऻरॕ
कॎ ओर ोकऺ बॠधन म७ रखॊ जॊतॊ ऻॖ?

Stracher bond / Ā३ॕचर बॠधन
Header bond / ऻॖडर बॠधन



Header bond / ऻॖडर बॠधन

English bond / अॠঁॕजॎ बॠधन

Flemish bond / Āॕोमष बॠधन

Correct Answer :­Header bond / ऻॖडर बॠधन 

82)

Question Stimulus :­

Civil

A fluid whose viscosity changes with the rate of deformation is known as: / एक ঈश ोजऺकॎ Āॊनतॊ
ोशॺपण कॎ दर कॕ ऺॊथ बदलतॎ ऻॖ, उऺॕ जॊनॊ जॊतॊ ऻॖ:

Newtonian fluid / ကॐटख़ोनयन ঈश

Laminar flow / Āरॎय ঋशॊऻ

Turbulent flow / अषॊॠत ঋशॊऻ

Non – newtonian fluid / गॖर ­ ကॐटख़ोनयन ঈश

Correct Answer :­Non – newtonian fluid / गॖर ­ ကॐटख़ोनयन ঈश 

83)

Question Stimulus :­

Civil

The piles used to protect concrete deck from the abrasion or impact is known as: / घह१ण यॊ ঋभॊश ऺॕ
कॠ ॿॎट डॕक कॎ र঴ॊ करनॕ कॕ ोलए उपयख़ग ोकए जॊनॕ शॊलॕ ढॕर कख़ जॊनॊ जॊतॊ ऻॖ:



Fender piles / आघॊत ऺॕ बचॊश कॕ ढॕर

Sheet piles / चॊदर कॊ ढॕर

Batter piles / पॎटनॕ शॊलॕ ढॕर

Compaction piles /  ॠऺघनन ढॕर

Correct Answer :­Fender piles / आघॊत ऺॕ बचॊश कॕ ढॕर 

84)

Question Stimulus :­

Civil

Find the plinth area of building if a building built up area 350  m2 is constructed with a courtyard of
5.5 × 6.5 m inside the building:  / भशन कॎ कॏ ऺ५ कॊ ঴ॕআ Āॊत कर७  योद भशन कॕ भॎतर 5.5 × 6.5 मॎटर कॕ एक आॠगन कॕ
ऺॊथ 350मॎ2 ोनमॊ१ण ঴ॕআ कॊ ोनमॊ१ण ोकयॊ गयॊ ऻॖ:

314.24 m2 / 314.24 मॎ2

314.25 m2 / 314.25 मॎ2

314.26 m2 / 314.26 मॎ2

314.27 m2 / 314.27 मॎ2

 

Correct Answer :­314.25 m2 / 314.25 मॎ2 

85)



Question Stimulus :­

Civil

It is the ratio of load lifted to the effort applied: / इऺॕ लॊगॐ करनॕ कॕ ঋयॊऺ कॊ उठॊए भॊर कॊ अनॏपॊत ऻॖ

Output of ratio / उĀॊदन कॊ अनॏपॊत 

Input of machine / मषॎन कॊ आदॊन

Mechanical advantage / यॊॠोআक लॊभ

Velocity ratio / शॕग कॊ अनॏपॊत

Correct Answer :­Mechanical advantage / यॊॠोআक लॊभ 

86)

Question Stimulus :­

Civil

The irrigation works constructed for regulating the supply of irrigation water is called as: / ो ॠऺचॊई कॕ
पॊनॎ कॎ आपॐोत१ कॕ ोशोनयमन कॕ ोलए ोनोम१त ो ॠऺचॊई ोनमॊ१ण कख़ कऻॊ जॊतॊ ऻॖ:

Regulators  / ोनयॊमक

Escapes / पलॊयन

Falls / जलঋपॊत

Canal outlet and modulus / नऻर कॊ ोनकॊऺ ကॊर और मॊपॊॠक

Correct Answer :­Regulators  / ोनयॊमक 



87)

Question Stimulus :­

Civil

Which type of construction provides 4 hours of fire resistance? / ोकऺ ঋकॊर कॊ ोनमॊ१ण 4 घॠटॕ कॊ अो্ ঋोतरख़ध
ঋदॊन करतॊ ऻॖ?

Type – 4/ ঋकॊर ­ 4

Type – 3 / ঋकॊर ­ 3

Type – 2 / ঋकॊर – 2

Type – 1  / ঋकॊर – 1 

Correct Answer :­Type – 1  / ঋकॊर – 1  

88)

Question Stimulus :­

Civil

The measurement of materials for making concrete is known as: / कॠ ॿॎट कॕ ोनमॊ१ण कॕ ोलए ऺॊमঁॎ कॕ मॊप कख़
ोकऺ ॺप म७ जॊनॊ जॊतॊ ऻॖ:

Batching / बॖोचॠग

Mixing / ोम঒ण

Placing / लगॊनॊ

Curing / पकॊई तरॊई



Curing / पकॊई तरॊई

Correct Answer :­Batching / बॖोचॠग 

89)

Question Stimulus :­

Civil

Which type of scaffolding is used for painting and repair works inside the room upto a height of 15
meters? / 15 मॎटर कॎ ऊॠ चॊई तक कमरॕ कॕ अॠदर प७ोटॠग और मरĀत कॊयॵ कॕ ोलए ोकऺ ঋकॊर कॕ मचॊन कॊ ঋयख़ग ोकयॊ जॊतॊ ऻॖ?

Patented scaffolding / पॕट७ट मचॊन

Steel scaffolding / इĀॊत मचॊन

Suspended scaffolding / ोनलॠोबत मचॊन

Trestle scaffolding / टकटकॎ मचॊन

Correct Answer :­Trestle scaffolding / टकटकॎ मचॊन 

90)

Question Stimulus :­

Civil

When a body of mass of inertia about a given axis is rotated about the axis with an angular velocity
it possess some__________. / जब एक ोदए गए अ঴ कॕ चॊरख़ ॠ ओर ঈကमॊन शॊलॕ ोपॠड कख़ एक कख़णॎय शॕग पर धॏरॎ कॕ चॊरख़ ॠ
ओर घॏमॊयॊ जॊतॊ ऻॖ, तब इऺकॕ पॊऺ  कॏ छ __________  ऻख़तॎ ऻॖ।

torque / बल आघॐण१ 

potential energy / ्Āथोतज ऊजॊ१



potential energy / ्Āथोतज ऊजॊ१

strain energy / तनॊश ऊजॊ१

kinectic energy / गोतज ऊजॊ१

Correct Answer :­kinectic energy / गोतज ऊजॊ१ 

91)

Question Stimulus :­

Civil

Which type of sewage carries the domestic and stormwater?  / ोकऺ ঋकॊर कॊ नॊलॊ घरॕलॐ और तॐफॊनॎ जल कख़
लॕ जॊतॊ ऻॖ?

Combined sewer /  ॠऺयॏঢ नॊलॊ 

Storm sewer / तॐफॊन नॊलॊ

Sanitary sewer / Āৢतॊ नॊलॊ

House sewer / घरॕलॏ नॊलॊ

Correct Answer :­Combined sewer /  ॠऺयॏঢ नॊलॊ  

92)

Question Stimulus :­

CANCELLED

Civil



This is a field method of determining rough value of the water content: / यऻ खॕत म७ पॊनॎ कॕ मॊআॊ कॊ
ोनधॊ१रण करनॕ कॕ ोलए एक ऺॊमॊက ोशोध ऻॖ

Sand bath method / रॕत Āॊन ोशोध

Calcium method / कॖ्Āषयम ोशोध

Pycnometer method / घनကमॊपॎ ोशोध

Oven drying method / ओशन  ॏऺखॊनॕ कॎ ोशोध

Correct Answer :­Sand bath method / रॕत Āॊन ोशोध 

93)

Question Stimulus :­

Civil

__________is the energy possessed by a body for doing work by virtue of its position.
/ __________ शऻ उजॊ१ ोजऺॕ कख़ई ोपॠड अपनॎ अपनॎ ्Āथोत कॕ आधॊर पर कॊय१ करनॕ कॕ ोलए  ॠऺोचत रखतॊ ऻ॰। 

Potential energy / ्Āथोतज ऊजॊ१

Strain energy / ोशक॑ोत ऊजॊ१

Kinetic energy / गोतज ऊजॊ१ 

Stress energy / तनॊश ऊजॊ१

Correct Answer :­Potential energy / ्Āथोतज ऊजॊ१ 

94)



Question Stimulus :­

Civil

What are used to mark the positions of the stations? / Āॕषन कॕ Āथॊन कख़ ोचोĀत करनॕ कॕ ोलए ोकऺकॊ उपयख़ग
ोकयॊ जॊतॊ ऻ॰?

Pegs / खॐॠटॕ

Ranging rods / मॏीॊ ॽए छी

Offset rods / ऺमॠजन छी

Cross staff / ोशरख़धॎ कम१चॊरॎ

Correct Answer :­Pegs / खॐॠटॕ 

95)

Question Stimulus :­

Civil

Find the value of building if the plinth area 350 m2 and the cost of construction of a similar building
in a similar locality is Rs. 1700/m2: / भशन कॕ मॐĀ कॊ Āॊत कर७  योद कॏ ऺ५ कॊ ঴ॕআफल 350मॎ2 और एक ऺमॊन इलॊकॕ
म७ एक ऺमॊन भशन कॕ ोनमॊ१ण कॎ लॊगत 1700/मॎ2 ॹपयॕ ऻॖ।

595003

595002

595001

595000



Correct Answer :­595000 

96)

Question Stimulus :­

Civil

Given mathematically equation ρ = M/V represents which terms used in Soil mechanics / ोदयॊ गयॊ
गोणतॎय ऺमॎकरण ρ = एम/शॎ म॑दॊ यॊॠोআकॎ म७ उपयख़ग ोकए जॊनॕ शॊलॕ ोकऺ षĀ कॊ ঋोतोनोधက करतॊ ऻॖ: 

Density of soil / ोमĀॎ कॕ घनက

Water content / पॊनॎ कॎ मॊআॊ

Saturated density /  ॠऺत॑Ā घनက

Buoyant density / उĀॊशन घनက 

Correct Answer :­Density of soil / ोमĀॎ कॕ घनက 

97)

Question Stimulus :­

Civil

Which type of truss is also called as latticed roof truss? / ोकऺ ঋकॊर कॕ क॰ चॎनॏमॊ  ॠऺरचनॊ कख़ लॖोटऺ ॺफ ट३ऺ भॎ
कऻॊ जॊतॊ ऻॖ?

Bel­fast truss / बॕलूॊĀ ट३ऺ

Mansard truss / मॊॠऺड१ ट३ऺ

Queen post truss / রॎन पख़Ā ट३ऺ 



King post truss / ोकॠ ग पख़Ā ट३ऺ

Correct Answer :­Bel­fast truss / बॕलूॊĀ ट३ऺ 

98)

Question Stimulus :­

Civil

What is the recommended value of the effective length if the end condition effectively held in
position and restrained in direction at both ends? / ঋभॊशॎ लॠबॊई कॊ अनॏषॠोऺत मॊन ভॊ ऻॖ योद दख़नख़ ॠ ोऺरख़ ॠ पर अॠत
्Āथोत कख़ ঋभॊशॎ ढॠग ऺॕ ्Āथोत म७ रखॊ और ोदषॊ म७ रख़क ोलयॊ जॊतॊ ऻॖ?

0.80 L / 0.80 एल

1.2 L / 1.2 एल

0.65 L /0.65 एल

2.5 L / 2.5 एल

Correct Answer :­0.65 L /0.65 एल 

99)

Question Stimulus :­

Civil

It is defined as the total rise or fall between any two points chosen on the alignment divided by the
horizontal distance between two points: / दख़ ोबĀदॏ ओॠ कॕ बॎच ঴ॖोतज दॐ रॎ ကॊरॊ ोशभॊोजत  ॠऺरॕखण पर चॏनॕ गए ोकĀॎ ॠ दख़
ोबॠदॏओॠ पर इऺॕ कॏ ल श्॑Ā यॊ ोगरॊशट कॕ ॺप म७ पौरभॊोहत ोकयॊ गयॊ ऻॖ:

Ruling gradient / ोनयॠআक ঋशणतॊ
Variable gradient / पौरशत१नषॎल ঋशणतॊ



Variable gradient / पौरशत१नषॎल ঋशणतॊ

Exceptional gradient / अऺॊधॊरण ঋशणतॊ

Average gradient / औऺत ঋशणतॊ

Correct Answer :­Average gradient / औऺत ঋशणतॊ 

100)

Question Stimulus :­

Civil

How much is the maximum permissible fluorine content water for domestic supplies? / घरॕलॐ आपॐोत१
शॊलॕ पॊनॎ म७ মख़रॎन कॕ ोलए अोधकतम अनॏमॕय  ऺॎमॊ ভॊ ऻॖ?

0.3 PPM / 0.3 पॎपॎएम

0.05 PPM / 0.05 पॎपॎएम

3 PPM / 3 पॎपॎएम

1.5 PPM / 1.5 पॎपॎएम

Correct Answer :­1.5 PPM / 1.5 पॎपॎएम 


